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10.

11.

(A) 2years (B) 10 years

(C) 15 years (D) None of these
Solution

Let there ages be 3x and 2x then by given
condition 3x=2x+5

3x-2x=5 2Xx=5
Age of younger student = 2x = 2x5 =10 years

Cue, bolting and break terms associated with
which game:

(A)" Volleyball (B) Snooker

(C) Billiard (D) Polo

The radius of a circle is 10 cm and the length
of one of its chords is 12 ¢cm then the distance
of the chord from the centre is:

6 cm (B) 8cm
(C) 10cm (D) 12cm
Solution

Radius bisect the chord = 12/2 = 6cm
Using Pythagoras theorem distance of chord from

O

A '/ <
center : )
d’ = (10)*~ (6)? = 100-36 = d?=64 =d = 8cm

Who among the following Mughal rulers was a

contemporary of Queen Elizabeth | of
England;

(A) Jahangir

(B) Aurangzeb Alamgir
(C) Zaheer-ud-din Babar
(D) Akbar the Great

In 1946, who called for
elimination of nuclear weapons:
(A) UN General Assembly

(B) UN Secretariat

(C) World Bank

(D) European Court of Human Rights

The largest volcano of the world is:
(A) Mauna Loa (B) Mauna Kea
(C) Mount Etna (D) None of these !

the complete

The Charismatic Leader: Quaid-i-Azam
Mohammad Ali Jinnah and the Creation of
Pakistan:-

(A) Benazir Bhutto
(B) Sikandar Hayat
(C) Shaukat Hayat Khan
(D) Colonel llahi Baksh

A matter can exist in which of the following -

forms:
(A) Liquid (B) Solid
(C) Gas (D) All of these

Who chaired Asia Pacific Group of UNESCO
for the year 2020 from.Pakistan?
(A) Abdul Basit (B) Moin-ul-Haq
(C) Maleeha Lodhi (D) Munir Akram
she is a good runner but | have not

| 2
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12.

13.

14.

15.

" (A) Napoleon

16.

17.

18.

-bond after t years.

seen her running.

(A) Possibly (B) Apparently

(C) Doubtfully (D) None of thege
bought a' $2000 government b

;(i)éllgs 60/5J in simple interest each yegg dv\}"!at

the equation that gives the tota| amoupy Aflge

dollars, Kyle will receive when he sellg | hln

8

A= 2,000 (1+.06)t (B) A=2 009 (1+,

(C) A= 2,000 (1+.06) (D) A= 2005 (1+,8g}))

Solution

Interest = PRT = 2000x0.06xt then we

A = P+ | =2000 + 2000x0.06t -

A= 2000(1 + 0.06t)

ing Mughal rule Bakhsi was:
&%rlrl‘r?char%e of Military Affairs
(B) Finance Minister _
(C) Incharge of Religious Affairs
(D) Minister of the Royal Househglg

Which religion foilowers are not allowed tq eat
sehri while keeping fast?

(A) Christians (B) Jews

(C) BothA&B - (D) None of these

Tipu sultan had diplomatic relations With which
French king:
(B) Charles

(C) Henry Il (D) None of these

The number of bones in new born baby is:
(A) 200 (B) 250
(C) 300 (D) None of these

Who is popularly known as Father of Indian
Constitution? -~ °

(A) B.R Ambedkar

(B) Jawaharalal Nehru

(C) Mahatama Gandhi

(D) Bal Gangadhar Tilak

(What) did he wants you to do?

use

Identify (what) in this sentence act as:

19.

20.

- (C) Superscript
21.

| 22.

Pronoun (B) Adverb
(C) Adjective . (D) Noun

Errors from computer hardware and software
can be identified and removed by process:
(A) Interface (B) Debugging

(C) Formatting . (D) Flip Flop

In MS Word a character that is raised and is
smaller above the baseline is called:

(A) Outline (B) Raised

. (D) Subscript

How many countries joined NATO? -

(A) 20 (B) 26

(C) 30 (D) 34 T
- Which of the following is not a member 0
NATO? - :

(A) Lithuania (B) Luxemburg

~ ? After admission of Finland in Aprit 2023, NATO

membership has reached at 31.
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23.

24.

25.

26.

- 27.

28.

29.

30.

31.

32

33,
34,

/38,
36.

37.

38.

(C) Montenegro (D) China
Which Mos
destr;:(:y?
(A) Kafiroon (B) Zirar

(C) Mushrikoon (D) None of these

Which of the following cities
capital of Pakistan? o was the former

que was ordered by Allah to

(A) Lahore (B) Rawalpindi

(C) Peshawar (D) Karacr‘\)i

g’he book “A Brief History of Time” is written
y.

(A) Aristotle (B) Oswald Spengler

(C) Stephen Hawking (D) Karl Marx

She sings a song, doesn't is she here, doesn't
is she is: _

(A) Tag question (B) Pronoun case

(C) Gerund case (D) Object

In which Surah of the Holy Quran Bismillah is
added twice;

(A) Surah Bagarah (B) Surah Namal
(C) Surah Yaseen (D) None of these

Synonym of VEIL:

(A) Cover (B) Overt

(C) Blatant (D) None of these
In tennis which test is used to check the
fitness of players:

(A) Push up test (B) Fitness test
(C) Dyertest (D) T test
Choose the correct analogy

Morning : Noon :; 7 : -

(A) Child: Young (B) Child: Youth
(C) Noon: Forenoon (D) None of these'

The meaning of Put on is:

(A) Call (B) Wear

(C) Escape (D) None of these
Computer Hard Disk was first introduced in:
(A) Dell (B) Apple

(C) Microsoft (D) IBM

Geneva is the city of which country:

(A) New Zealand (B) Switzerland

(C) ltaly : (D) None of these
Choose the analogy of words written in capital
letters. Lion: Roar :

(A) Snake : Slither (B) Goat: Bleat

(C) Lizard : Crawl (D) Elephant : Tusk

Banjosa Lake is situated in:

(A) Swat (B) Gilgit Baltistan
(C) AJK - (D) Karachi

Choose the analogy of words written in capital

letters. Speak: Stammer

(A) Walk.: Stagger (B) Strut : Walk
(C) Speech: Stage (D) None of these

Arab spring started from which country:
Tunisia (B) Libya
C) Yemen (D) Egypt

| met European.
(A) a (B) an

39.

40.

41.

42,
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(C) the (D) None of these

In March 2006, who was appointed as the
bowling coach for Pakistan?

(A) Shaoib Malik (B) Waqar Younus
(C) Ramiz Raja (D) Misbah-ul-Haq

When did Pakistan join the OIC?
(A) 1968 (B) 1969
(C) 1973 (D) 1974
Cloud Gate is located in: )

. (A) Chicago (B) San Francisco
(C) Alaska (D) None of thee
When did the Indian mutiny take place?
(A) 1849 (B) 1857
(C) 1865 (D) 1902

43.

44,

45,

46.

47.

48.

49.

50.

51.

52.

Azad Pattan project will be constructed on
which river:

(A) Indus (B) Jhelum

(C) Chenab (D) None of these
Antonym of Haggard:

(A) Healthy ° (B) Robust

(C) Hearty (D) Plump

How many princely states at the time of
subcontinent partition decided to join Pakistan
out of 565?

(A) 11 (B) 12

(C) 13 (D) 14

In Punjab Radcliffe gave an unjust award,
including following tehsils in Indian side:

(A) Sheikhupura, Kasur

(B) Gurdaspur, Pathankot

(C) Feroxpur, Hoshiarpur

(D) Shakargarh, Pakpattan

The world's deepest trench the Mariana
Trench is located in:

(A) Indian Ocean (B) Atlantic Ocean

(C) Pacific Ocean (D) Arctic Ocean

After cold war, a new cold war or cold war ]
has arisen between:

(A) Russia & US (B) Russia & China
(C) China & US (D) None of these

Agra summit was a two days summit which
remained: SRl

(A) Successful

~ (B) Un-Conclusive

(C) Delayed Till Further a2
(D) None of these

Which . out bf the following countries hosted
most refugees in 2012?

(A) Iran (B) Pakistan

(C) Germany (D) France \
Which one is the capital of Somalia?

(A) Nairobi g (B) Cairo ,

(C) Mogadishu (D) None of these -
Ctrl,shift and alt are called ______ keys.

(A) Modifier (B) Function

(C) Adjustment (D) None of these
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$3. Who was the founder of Nawaiwaqt news

55.

56.

57.

'58.

. 59.

- (C) Sikandar Lodhi

20% = 20/100 = 1/5

65.

66.

67.

(C) 200(100)

paper?
(A) Hameed Nizami (B) Majeed Nizami
(C) Arif Nizami (D) None of these

. Which Prophet was declared Adam second?

(A) Hazrat Ibrahim AS
(B) Hazrat Nooh AS
(C) Hazrat Musa AS
(D) None of these

General Pervaiz Musharraf was elected as
President through referendum on: '
(A) April 30, 2001

(B) April 30, 2002
(C) April 30, 2003

(D) April 30, 2004

The workers called the strike.
(A) of (B) off
(C) on (D) None of these

The reaction between an acid and a base to
form: . . .
(A) Salt & Water

(B) Acid solution
(C) Base solution

(D) Water

The name of the daughter of Quaie-e-
Azam was:

(A) Maryam (B) Dina

(C) Khadija (D) None of these

Who was the founder of Lodhi dynasty of

India? .
(A) Ibrahim Lodhi - (B) Bahlul Khan Lodhi

(D). None of these

60. Brain virus created by brothers.
- (A) ' Pakistani (B) ltalian
(C)' Chinese (D) Japanese
61. Maleeha Lodhi served as ambassador of:
(A) US (B) UK I
~, (C) UN (D) All of these
62. River flows into a quiet lake and begins to
form a: ’ . ‘ :
" (A) Deltas (B) Alluvial fans
~ . (C) Natural leeves (D) Point bars - _
63. Healthful diet includes balance, variety and
' principle. ‘
(A) Availability (B) Moderation._
(C) Quality (D) Complimentary
64. What is 20% as a fraction?
(A) 12 (B) 1/20
(C) 1/5

(D) 1/0.05

His hand____ caught yesterday in the door.

(A) Bruised (B) Burnt
(C) Rough (D) Rashed -
The binary decimal of 10100 is:
(A) 20(10) (B) 200(10)

(D) None of these "
Solution :

12 + 0x2% + 2x27 + 0x2* + 0x2°
1x16 + 0+ 1x4 +0 +0 = 16 + 4 = 20

Chapter 1 of the 1973 constitution deals with:
(A) Fundamental Rights :

68.

69.

70.

71.

72.

73.

74,
75.
.76.

b A

78.

79.

80.

81.

(C) Finance

(B) Principles of Policy
(C) President's powers
(D) Prime Minister's Powers

How this incident come
(A) around (B) about
(C) by (D) at

Which is used as an electrode in the dry cell? '
(A) Lead (B) Graphite
(C) Molybdenum (D) None of these

Which of the following is not a nomenclature

of MS Excel? .

(A) Range (B) Workbook
(C) Document (D) Cell

We should abide by the rule

(A) Would we? - (B) Shouldn't we?
(C) Will not we?- (D) None of these

The muscles, tissues and blood all are made

up of: v

(/‘x)) Carbohydrates  (B) Proteins
(C) Vitamins (D) Fats
Which key is used for help in Word?
(A) -F1 (B) F2

(C) F3 (D) F4

Faiz Ahmad Faiz buried in:

(A) Karachi (B) Lahore

(C) Hyderabad (D) None of these

Zulfiqar Ali Bhutto first ministry was:
(A) Industrialization (B) Commerce
(D) Petroleum

The Bari Doab 'is located between:
(A) Jhelum & Chenab(B) Bias & Ravi .
(C) Ravi & Chenab (D) Bias and Chenab

Mahmud of Ghazni waged war against
rebellious India in the year of: -

(A) 900 AD (B) 1000 AD

(C) 1100 AD (D) 1200 AD -

Which one is not the principle of: New World
Order? ' - .
(A) Territorial Integrity

(B) Human Rights

(C) Peaceful Engagement

(D) War on terrorism

That charming girl was the of. all
eyes. . '
(A) Target ~(B) Ambition

(C) Cynosure (D) Doggerel

When Aligarh College became university in:
(A) 1875 (B) 1877
(C) 1920 (D) 1936

6 men, 7 women and 5 children complete a
job for Rs 4400. If their individual wages be in

- the ratio 4:3:2, the total money earned by 5

children is: N

(A) Rs. 800 (B) Rs. 880
(C) Rs. 980 (D) Rs. 990
Solution

Ratio of their wages =6x4:7x3:5x2 = 24:21:10

Cfear

-



of ratio = 24+ 21+ 10 = 55
sum

. 10
ney earned by 5 children = 55 X 4400
Mo

44000
= ? = 800

(104 writing, 1/6 reading and 1/g
I

. p deSi n
ticipated in different contegt gning

8-

. S and
‘ar% icpi; ants of mathematics, then total numbae?'
fparticipants are:

of P20 (B) 71

Eé; 7 (D) 73

sdmio"

icipant =x the
Let total partacu;:an L% 4 r; 3 '
—+=+=+ =
4+6TB x
= ipl
(em of 4,6,8 x24 ,» Mu 2[3 y each by 24

£x24 4 gx24 + 5124 +33(24) = 24,
4

6 + dx + 3x +792 = 24x
792 = 24x-13x = 11X =792 >x= 792/11 =72
who was the Prime Minister of India at the
" time of Tashkent agreement? .
(A) Lal Bahadur_Shastn
(B) Indira .Gar]dhl_
(C) Atal Bihari V_aJpayee
(D) Rajiv Gandhi
g4. “Chilum Joshi” is a festival celebrateq in
' (A) Kalash Valley (B)- Gilgit Baltistan
(C) Peshawar (D) None of these ,
§5. Hazrat Zaid bin Haris RA name occurred in
which surah of Holy Quan:
(A) Surah Al Imran (B) Surah Al Bagarah
(C) Surah AlAhzab (D) Surah Rehman -

8. Which is the national flower of Pakistan?
(A) Jasmine (B) Rose
(C) Sunflower (D) Marigold
87. Change narration: The worker said, ‘l have not
done anything wrong.'
(A) The worker said that he has not done
f anything wrong.
(B) The worker said that he have not done
anything wrong,
(C) The worker said that he had not done
anything wrong. o
(0) The worker asked that he has not done
anything wrong.

% The fuel is after 40

lap is 22 and it is 18 after
Zn 4.7 then how many laps are made at the
A) 1o @ e
© 14 - o) 15
B The

A largest ol refinery in Pakistan is:
(B) ock ol refinery o
: (C; ak-China oijl refinery
\ ak-Arab ol refinery
None of these

‘U”»! J.,J
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: . CODE-41 ASSISTANT (BS-16) (12/02/2023_)

Aariculture Department (Directorate of Floriculture), Industries, Commerce,
Investment & Skills Development Department, Directorat_e of Puplal_) Consumer
Protection Council, Board of Revenue (Deputy CommissnonerIDlstr_lct Collector -

Office, Jhelum), Social Welfare & Bait-Ul-Maal Department, Housing l!rba_m

_ Development & Public Health Engineering Department, Water and Sanltatloq
Agency, FDA, Faisalabad, Human Riahts & Minorities Affairs Department (Punjab
| Treaty Implementation Cell) ' 3

7_962022-32M2022-44J2022-62G2022-55E2022-1 6A2022
' (A) Paris .- (B) London -

1. ]\gl;]ci:? among t_he .folvlowing accepted Dinji- (C) Wa‘shfhgtoh (D) New York
. (A) Todermal . (B) Tansen o 8:  Which of the following is not a vector quantity?
- -(C) Birbal - (D) Man Singh : 1 (A) Displacement  (B) Velo_city‘_
2. . Who stood against Akbar Deen-i-llahi: ~ (C) Speed A (D) Acceleration
- (A) Shah Wali Ullah . 9. The Nobel Prize has been awarded in
(B) Sheikh Sirhindi -~ B fields. : »
(C) Sir Syed Ahmad Khan ok (A) 5 o (B) 6
(D) Aurangzeb » - e Cc) 7 (D) 8

3. In which city of Pakistan 2nd Islamic Summit |- 10. FAO stands for: |
Conference was held: o ‘ (A) Food and Agriculture Organization

(A) Karachi (B) Islamabad N (B) Financial and Agriculture Organization
| (C) !.ahore - (D) Peshawar ~ (C) Food and Assurance Organization
4. Badshahi: mosque is in Lahore built by (D) None of these e
in 1673. _ | 1. Whatis the meaning of Apprehension? -
(A) Jahangir (B) Akbar : (A) Depth - (B) Elongation
(C) Shah Jahan (D) Aurangzeb (C) Security - . (D) Arrest
9. Sound travels fastest in: Lo o 12. The largest artificial lake in the world is:
(A) Solid (B) Liquid (A) Baikal lake = (B) Mead lake
- (C) Gas (D) None of these il (C) Kariba lake (D) Superior lake
6. Which of the following is not one .of | 13. The Headquarter of International Labour
. PoweiPoint's views?’ : Organization (ILO) is in: ' )
(A) Outline view (B) Slide Sorter (A) New York (B) Geneva

(C) Siide Show view (D) Normal - : (C) Paris = ° (D) Hague
7. Where is the British Library situated? ' . ‘




.« the largest font size available in drop

nat is e 8 Word?
14 (‘,"Lwn g‘e"“ of (B) 70
™ 5 (D) 78
(C) ind her parentsfin tears.
lia parted — (B) o
5. A from |
hat is the sum of the first 5 composite
. ?
" numggfs' (B) 33
(A 2 (D) 43

(©) > umbers are those that can have factor -
Gom905'gethner then 1 and itself.

st five composite = 4+6+8+9+10=37
sum ° many towns in Pakistan at the time of
1. ‘;‘gpendence more than 100000 population:
lg) 08 (B) 09
fC) 10 (D) 11

giffel tower is located in which country:

18. (B) France
A) Germany
f(;; Italy (D) US
e is used to the hardships of life.
19. SAh) face - (B) faced

(C) to get faced (D) to have faced

20. The process of removing unwanted part of an
" jmage is called:

A) Hiding (B) Cutting_
B Cropping (D) Bordering
21. Dear friend____ | need your help. Fill in the
" blank with suitable punctuation.
(A) Comma (B) Semi Colon
(C) Exclamation (D) -None of these
22. Her parents went to Karachi train.
(A) to (B) by -
(C) at (D) of

23. Islamic calendar starting is relating to:
(A) Birth of Holy Prophet PBUH
(B) Treaty of Hudabia
(C) Hijrat Madina
(D) Fattah Makkah

2. | helped him. Here { is: #*
(A) Verb (B) Object
(C) Subject (D) Adjective
2. :Ng_o wiote “The Loyal Muhammadans of
ndia”™:
(A) Sir Muhammad Zafar Ullah Khan
Rehmat Al _ ;
F._:-xzal-ul-Haq
) Sir Syed Ahmad Khan -

%, Which of the following is correctly punctuated?
YB\ That's anyone's guess. '
(C; _H:ethbrary lost all its books.

atcarj ;i
0) T I'is not your’s.

' atcaris not their's.
* Change Narration: They are thanked their
Quests. :

28.

29.

30.

31. O

32.

33.
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(A) The guest said their host thank you.
(B) The guest told to their host thank you.

(C) The guest saig to their host thank you.
(D) None of these

The research study is an eye-opener and

attempts to acquaint us with the problems of
Poor nations. :

(A) attempted to acquaint

(B) attempts at acquainting

(C) attempt at acquaint

(D) attempting to acquaint :

Who among the following is the founder of

Microsoft?

(A) Charles Babbage (B) Bill Gates

(C) Elon Musk (D) None of these

Change voice please pick it up.

(A) Please letit be picked up. ) o
You are requested to pickitup. o

(C) Let me picked it up. ' '

(D) None of these .

ur brain demands the most: ( N

(A) Glucose (B) Lactose

(C) Proteins (D) Vitamins

Which'is the largest lake in Europe?
(A) Onega lake - (B) Garda lake
(C) Ladoga lake (D) Como lake

The

sunlight ~can reach . a . depth
of : meters in the ocean, >
(A) 100 m (B) 200m .- SRR
(C) 300m (D) 400 m - B E LR
Central National Muhammadan Association =

34,

35.

36.

37.

38.

39.

-(C) Iskandar Mirza

was a political organization founded by Syed
Ameer Aliin: . e
(A) 1875 (B) 1876
(C) 1877 - (D) 1878

My friend and | are going to party. Here | is:
(A) Subjective case (B) Genitive case
(C) Objective case - (D) None of these

Which of the following becomes first . Arab.
country to launch Mars probe? 31 4 ~
(A) Qatar (B) VUAE

(C) Saudi Arabia (D) Iran

Tokyo Olympics 2020 final torchbearer of th§ |
Olympic torch relay lit by: : s
(A) Bajrang Punia ~ (B) Naomi Osaka

(C) Yang Qian (D) None of these

Zulifgar Ali Bhutto started his political career in

the era of: . R

(A) Ayub Khan (B) YahyaKhan
(D) Ghulam

Muhammad : .

US President Joe Biden is also served
as__ - 191 IR Sl
(A) Pentagon Chief A

(B) Speaker of Congress =

(C) Vice President

(D) Chief Judge

__W;:} Ty

N
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40. Change narration: He said to me, "Why are

you late?"

(A) He as_ked me why | was late.
(B) He said to me why | was late.

- (C) He told me why | were late.

41,

42.

43.

45,

(D) None of these ,
Six days Arab-Israel war won by:

(A) Jordan (B) Syria

(C) Egypt (D) Israel

Term and tenure of Senate membership is
: years.

(A) 3years (B) 4 years

(C) 5years (D) 6 years

How many stages  of COVID-19 discovered

until now:
(A) 3 (B) 4
(C) 5 (D) 6
.Ahqu Shah Abdali launched his early
invasions against:
(A) Mughals (B) Sikhs
. (C) Marhattas (C) British
Blood is thicker than .
(A) Air (B) Water
(C) Gas (D) None of these

46.
47.

48.

Which is the longest river of Pakistan?
(A) Chenab (B) Jhelum

(C) Indus (D) Sutlej

Who is known as Father of Geometry?
(A) Euclid (B) Pythagoras
(C) Rutherford (D) None of these

‘A Ladder 15 m Long Just Reaches the Top of

a Vertical Wall. If the Ladder Makes an Angle
of 60° with the' Wall, Then the length of the
Wall is: ‘

(A) 1573 m (8) 15V2m
(C) 152 m (D) 15V7m
Solution

Ladder represent hypotenous = h

~ wall represent perpendicular =p

49,

50.

91.

Floor represent base =b
. : e e
Using trigonometric ratio sinx =ﬁ

3
sin60 == £ =£=l =%\/3 cm

15 2 15
Lal Suhanra National Park established in:
(A) 1968 (B) 1972
(C) 1976 (D) 1991

The amount of oxygen required to store your
body to its normal resting level of metabolic
function is called: :

(A) EPOC ..

(B)- Deficit oxygen

(C) Lactate Threshold

(D) None of these

of the constitution of Pakistan
eénsures equality before the law and equal

52,

53.

54.

85.

56.
57.
58.
59.

- 60.

61.

the law and states that there

rotection of discrimination on the basis"

shall belnnc:e
g e 25 B) Article 23
le 22 (B) A
fég ﬁﬁ:gé 24 (D) Adl;:le 25
For what value of x+1/4¥x +a° will be perfg.,
uare:
(s/(\‘) +1/18 gg)) ?:/41/8
(C) 1/5
Solution

(vx)? #2(1/8) (Vx) + a? = (Vx + 1/8)°

ich is introduced by Zia ul haq: ,
YX?I?;;”}\E (B) Hudood Ordinance

(C) Police Act (D) None of these
Horticulture is the study of:

A) Animals (B) Insects

gc; Plants & Fruits (D) None of these
Heis ill fever.

(A) with (B) by

(C) to (D) of

thought process was based on:
ge)g?rlhiniir?g P (B) Material exchange
(C) BothA&B (D) None of these

Working with Zia book written by: :
(A) Ayesha Jalal (B) Stanley Wolpert

(C) K. M. Arif (D) Ishtiag Ahmad
The term 'double fault' is associated with:
(A) Baseball - (B) Golf

(C) Tennis (D) Bridge
Bangladesh separated from Pakistan in:

(A) 1969 (B) 1970

(C) 1971 (D) 1972

Which of the following branch of biology is
related with the study of the bacteria:

(A) Immunology (B) Microbiology
(C) Entomology (D) Genetics

Don't judge book by its’

(A) Page (B) Size
. (C) Cover - (D) Paper -

62.

63.

64.

The average height of five pupils is 68 inches.
If one 70 inches and other three are 76
inches, then what is the height (in inches) of
the fifth pupil? ‘

(A) 36 (B) 38
(C) 40 (D) 42
_Solution

Total length = 5x68= 340
Sum of four pupil = 70+76+76+76+76 = 298
Height of fifth pupil = 340 - 298 = 42 inches

Which is the largest coral reef in the world?
(A) Mesoamerican reef : ‘
(B) Florida Keys reef
(C) Great Barrier reef

(D) None of these
In “the context of Pakistan political and

" judiciary history what does PCO stands for:



65.

66.

67.

68.

69.

70.

71.

72,

73.

74,

75,

76,

“(C) Malaysia

A sum of money at simple interest amounts to
Rs. 815 in 3 years and to Rs. 854 in 4 years.

7.

.<ional Constitutional Ordinance
(A) P:gz:z:z:gl Constitutional Order
(B) Srovisional Court Order
(C; None of these
© Fifth Fleet of USA is located in
Th® o ria (B) Bahrain
2) italy (D) Qatar

h Zafar buried in:
radu o (B) Cambridge

é) (D) Hyderabad

i lacca is the main shipping channel
Sgts\l/teggmﬁ\dian and Pacific Oceans. It is
E)cated between: _

indonecsia & Malaysia
g) South Korea & North Korea
Ec) England & France
(D) None of these

inter-governmental  military  alliance
ﬁ;’tweg 30g member states 28 European and
02 North American was formed under:
A) NATO (B) Washington treaty
©) Both A &B (D) None of these

When first General election held in Pakistan:
1954 (B) 1962
(&) 108 (D) 1970

Chinese astronaut Wang Yaping is famous

or.

IA) To walk in space

(B) To walk in moon _
(C) First Chinese women pilot
(D) None of these

Jahangir khan was associated with which
game: '

(A) Cricket * (B) Squash

(C) Hockey (D) Badminton

Which school attacked in Afghanistan in May
20217 i

(A) Mirwais Nika High School.

(B) Sayed Al-Shuhada School

(C) Faizal E. Kandahari High School.

(D) Safia Ama Jan Girls High School.

Physical part of computer is called:
(A) Hardware (B) Software

(C) CPU (D) None of these
The range of Shaheen-Ill missile is:

(A) 2250 km - (B) 2550 km

(C) 2750 km (D) 2950 km

Cursor is a -

(A) Cursor ~ (B) Think blinking line

(C) Pointing device: (D) None of these
Sun Yat-sen was father of nation of.”

(A) Japan (B) China |
(D) None of these

he sum is: _
(A) Rs. 650 (B) Rs. 690
(C) Rs. 698 (D) Rs. 700

84. Average value of A and B i
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Solution

Simple interest for 1 yéar 854- 815 =39
Simple interest for 3 years = 3x39 =117
Principal /actual amount = 815-117 = 698

78. If two times A is equal to three times of B and

also equal to four times of C,thenA:B:Cis

Qi B
Solution

Given 2A=38,  then B=24

Also given 2A=4C , thenC= zTg =%A
ABC=1:24.4 1:2,2

ER R ’
LCMof3and2=6 , multiply each by 6

—6x1-6x2 6 1 & :
: 3 % XE-— :4:3

79. Who was the President of US & USSR in U-2

incident of Cuban missile crisis of 19627
(A) John F Kennedy & Nikita Khrushchev
(B) Henry Truman & Stalin

(C) Richard Nixon & Mikhail Gorbachev
(D) None of these

80. If Gohar salary 25% less than Babar salary,

then how much percent Babar salary greater
than Gohar?

(A) 105/3 (B) 100/3
(C) 95/3 (D) None of these
Solution

Let Babar's salary = 100
Gohar’s salary = 100-25 =75

Different in salary percentégg = ;%xl()ﬁ
X 2500 100

75 3
Babar’s salary is 100/3=33.33% more than Gohar.

81. Temple Tree is an official residence of the:

(A) Prime Minister of Qatar

(B) Prime Minister of Maldives
(C) . Prime Minister of Malaysia
(D) Prime Minister of Sri Lanka

82. Jan Sher Khan got Hilal-e-Imtiaz in which

year: .
(A) 1989 (B) 1993
(C) 1997 (D) 2002 -
83. Roza became obligatory in which Hijri:
(A) 2 Hijri (B) 3 Hijri
(C) 4 Hijri (D) 5 Hijri

s 50000, that of B
and C is 60000 and average of-A-and C Is
55000. Find the value of B: %K

A) 50000 . (B) 55000
%C))-BOOOO (D) None of these
Solution ‘ :

sum of income of a and B = 2x50,000=100,000
Surm of income of Band C= 2x60,000=1;20,000
Sum of income of Aand C = 2x55000=110,000

-l
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Adding all invomes = 2A+2B+2C= 330,000
A+B+C= 330,000/2 = 165,000
Now imcome of B = A+B+C — (A+B)

= 165,000-100,000=65000
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. JUNIOR CLERK (BS-11)
Board of Revenue, Punjab - 2023 . 43J2022

Which symbol is used to execute formulas in

Excel?
A (®) =
(C) # (D)'~ |
at is the synonym of Gigantic?
m Crammed (B) Poky
(C) Tiny (D) Huge

The value of an article which was purchased 2
years ago, depreciates at 12.% per annum. [f
its present value is Rs .9680, the price at
which it was purchased is:

(A) Rs. 10000 (B) Rs. 12500
(C) Rs. 14575 (D) Rs. 16250
Solution

R \n
A= P(lmi)z
9680=P(1-— o)’ |
9680 =P()? 9680 2 xg=P

P=12500

. Excel is a program that is use to prepare a:

" (A) Qutb-ud-din Aibak

. The intersection of a

A) Database

(B) Text Document
(C) Spreadsheet

(D) Workbook
Father of Slave dynasty:

(B) . Khizer Khan
(D) None of these

column and row in a

(C) Behlol Lodhi

spreadsheet is called:

A) Key (B) Field

(C) Cell : (D) Menu

1 kilometer is equal to how many centimeters:
100 cm (B) 10000 cm

(C) 10000 cm (D) 100000cm

Solution '

lK.M=1000meter and 1meter =100 cm then
K.M= 1000 x100 =100000cm

iReQionaI Cooperation for Development found
n: -

(A) 1964 B) 1970
(C) 1974 §D§ 1976
How

= Many times a normal man respires per
Minute:

10.

1.

12.

13.

14,

15.

16.

17.

18.

19.

. (D) The thickness of the

(A) 10-15t!mes (B) 14-18 times -
(C) 20-25 times (D) 25-30 times

Solar plate consists of which type of cell:

(A) Fuel cell (B) Photo voltaic cell
(C) BothA & B (D) None of these

Graphical répresentation of data is called:
(A) Pie chart (B) Scatter plot
(C) Line chart (D) Bar Chart
Kachura Lake is situated in:

(A) Swat (B) Skardu
(C) Muzaffarabad (D) Karachi

Phases of the moon occur because:
We can see only that part of the moon
which reflects light towards us

(B) Our distance from the moon keeps
changing

(C) The shadow of the Earth covers only a
part of moon's surface

moon's atmosphere
is not constant

Who said microbes are animalcule:

(A) Darwin (B) Mendel

(C) Leeuwenhoek (D) Louis Pasteur

Hingol River is situated in which province:
(A) Punjab (B) Sindh
(C) KPK (D) Balouchistan

_Pakistan is located in which continent:

(A) Africa (B) Asia
(C) Europe (D) None of these

The Punjab government has converted federal
minister . house into Panahga_h. .
(A) Ayaz Sadiq’ (B) Rana Sana'Ullah
(C) Ishaq Dar (D) None of these
(892)%= .
(A) 795664

(C) 798654
Solution:

892x892 = 795664 -
1965 war started from:

(A) 4 September
(C) 6 September

(B) 1784
(D) 1942

(B) 5 September
(D) 7 September



568

20. In MS Word a character that is raised and is

21,

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

smaller above the baseline is called:
(A) Outline (Bg Raised
(C) Superscript (D) Subscript

Germany remains in allies from 1945 to .

(A) 1950 (B) 1951

(C) 1952 (D) 1953

The largest earth filled dam of the world is:
(A) Tarbela . (B) Warsak

(C) Mangla (D) None of these

When was the Kashmir issue taken to the
United Nations by India? :

(A) 15 August 1947 (B) 01 January 1948
(C) 26 January 1949 (D) None of these

Duodenum Jejunum is a part of:
(A) Large Intestine (B) Small Intestine
(C) Stomach (D) Kidney

Which shortcut key is used to spell check in
Microsoft Word?

(A) F1 (B) F2

(C) F7 (D) F9

Element present in largest amount in human
body is: A

(A) Hydrogen (B) Nitrogen

(C) Oxygen (D) Carbon

In 1846 the British sold Kashmir to Dogra
Maharaja Gulab Singh for an amount of: '
(A) 60 Lacs (B) 65 Lacs
(C) 70 Lacs (D) 75 Lacs

Give the meaning of the idiom “break out™:
(A) Occur suddenly (B) break down
(C) Incomplete (D) None of these

Durand Line is the border between:

(A) Pakistan-Iran

(B) Pakistan-India

(C) Pakistan -Afghanistan

(D) None of these )

Who founded All India National Congress?
(A) Nehru (B) Gandhi
(C) A.O Hume (D) Quaid-e-Azam

The idiom “Kick the bucket” means?
(A) ToKill (B) Achieve a goal
(C) To be successful (D) To Die .

The meaning of the Idiom Prick up your ears

is: ‘

(A) lgnoring (B) Listening carefully

(C) Tune out (D) None of these

How can you apply exactly the same

formatting you did to another text?

(A) Copy the text and paste in new location.
Then type the new text again

(B) Copy the text and click on Paste Special
tool on new place .

(C) Select the text then click on Format
Painter and select the new text

(D) All of these

Advanced PPSC MCQs Model Papers (Volume 2)

4. Change voice: Our army has defeateq the

my.
ege T\I’w enemy has defeated by our army

(B) The enemy had been defeated by e

army.
(C) The enemy has been defeated by our

army.
(D) None of these

35. Pakistan left CENTO in:

A) 1973 (B) 1979
gc)) 1984 (D) 1988
36. If 30 men working 9 h per day can reap a field *
in 16 days, in how many days, will 36 men
reap the field working 8 h per day?
(A) 15 (B) 25
(C) 18 (D) 10
Solution
Let x be the number of days
More men, less days (indirect method)
Less hours, more days (indirect method)
therefore
© 36 x 8x x = 30x16x9
X=4320/288 = 15 days
37. Indus Waters Treaty, treaty, signed on
September 19, 1960, between India and
Pakistan and brokered by: ‘
(A) World Bank (B) United Nations
(C) IMF (D) WHO
38. My brother and friend me in my studies.
(A) Help (B) Helps
(C) Helped /(D) Helping
39. The meaning of put out is:
(A) Extinguish ~ (B) Assuage
(C) Help (D) None of these
40. A feature of MS Office that saves the
document automatically after certain interval is
called: £ :
(A) Save - (B) Save as

(C) AutoSave (D) None of these

41.- Which key deletes the character to the right of
the cursor in MS Word: -

(A) Delete (B) Backspace

(C) End A (D) None of thee
42. What is name of Iran’s new currency?

(A) Roman (B) Toman

“(C) Sian (D) Bron

43. The antonym of Diligent is:
(A) Hardworking (B) Intent
(C) Lazy (D) Active

44. By selecting paragraph we can apply:
+ (A) Line spacing (B) Indent

(C) BothA&B (C) None of these
First Capital of Pakistan was: ’

(A) Karachi (B) Lahore
(C) Hyderabad (D) None of these

Tarbela dam is located in:
(A) Wazirabad (B) Swabi

45,
46.

e,



‘ (D) Shangla

an ,
© Mard was a gathering of 35 prominent

47. The —cfim leaders led by the Aga Khan Ill

lr;d:gg Viceregal Lodge in Simla in October
a

1906. B) Delhi Convention
nference (B)
(A; gmg f)%putation (D) None of these

(C _ . fhese
the African Union established:;
8. Welo6T (B) 1987
fc) 2002 (D) 2005
ich is not an input device:
9. Wi house (B) Plotter

) Keyboard (D) Scanner

0. Cooking oil can be converted into vegetable
o hee by the process of::

(A) Oxidation (B) Distillation

(C) Hydrogenation (D) Crystallization

" The SI unit of “pressure” is:
5 (A) Pascal (B) Joule
(C) Tesla (D) Henry

52. Which is the largest hardware company of the
world: _
(A) Dell (B) Microsoft
(C) Apple (D) None of these

53. The angles of a triangle are (x-35), (x-25) and
(1/2x-10). find x:

(A) 80 (B) 90
(C) 100 (D) None of these
Solution

Sum of angle of a triangle =180
x-35 +x-25 + > -10= 180

XX+ ; -35-25-10 = 180
2x+5-70 =180

"‘2*’ = 180+70

5
?x=250 - 5x=500 - x=100

1 1
65+75+m = 180 - 140+r,0 =180

54. Which tab of MS-Word contains the Shapes

option:
(A) Home (B) Review
(C) Insert (D) None of these
55. The interdisciplinary  study of human

population is called:
(A) Cartography (B) Geography
(C) Demography (D) Biography

96. The study of life of one's individual is called:
(A) Psychology (B) Biography
(C) Biology (D) None of these

S7. The principal which will amounts to Rs. 270.40
in 2 years at the rate of 4% per annum

compound interest is:
(A) Rs. 150
(C) Rs. 250

~ Solution

(B) Rs. 200
(D) None of these
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Compound interest = p(1 + r'-p
270.40 =P(1+4/100 )
270.40 = P(1 + 0.04)?
270.40 =p(1.04)?
270.40 = P(1.04x1.04)
270.40 = P(1.0816)
270.40/1.0816 = 250

68. Sinqle spacing in MS-Word document

causes point line spacing.
(A) 10 (B) 12 v
(C) 14 (D) 16
59. lIsrael withdraw his troops in 2000 after 23
years frgm:
(A) Syria (B) Lebanon
(C) Egypt (D) None of these

60. A car travels 100 km at a speed of 60 km/h

and returns with a speed of 40 km/h.

Calculate the average speed for the whole
journey.

- (A) 40 km/h (B) 44 km/h
(C) 48 km/h (D) 52 km/h
Solution
Time taken to cover 100 km = 4stance _ 100 _
speed 60
1.66
: 100
Time taken to return back = ik 2.5
Average speed = total distance/total time=

1004100 200
166425 416 48 km/h

61. Pakistan conducted nuclea’r tests on:
(A) 22 May 1998 (B) 24 May 1998
(C) 28 May 1998 (D) None of these

62. If nis a natural number the 92" -42" js always
divisible by; .
- (B) 13

(A) 05
(D) None of these

(C) BothA&B
Given n ig qatural number so we put n=1
9" — 4%V = 99 4x4 = 81-16 =65 which is
divisible by both 13 and 5

63. The capital of British India was transferred
from Calcutta to in the year 1911.
(A) Delhi (B) Mumbai
(C) Hyderabad (D) Bangalore

64. Name-the battle in which Hazrat Khalid Bin
Waleed RA participated first time for Muslims:
(A) Battle of Badr  (B) Battle of Trench
(C) Battle of Mutah (D) Battle of Tabook

65. What is the shortcut key to "Subscript" the
selected text? _
(A) Ctrl += (B) Ctrl +-
(C) Ctrl + Shift+= (D) Ctrl +.Shift + -

66. Which shortcut is used for Undo in MS W?rd:
(A) Ctri+Y (B) Ctrl+Z
(C) Ctri+K (D) Ctrl+l

67. What is the shortcut key for “Decrease Font

Size" the selected text; _
(A) Ctrl + Shift+>  (B) Ctrl + Shift + <
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68. Which is an example of a formula?

69.

70.

71,

72.

73.

74.

75.

76.

{7,

78.

79.

80.

81.

82.

" He said you are domg very well Well is which

(A) North Asian Free Trade Agreement

_Advanced PPSC MCQs Model Papers
(C) Ctri+> (D) Ctri+<

(A) =A1+A2 (B) add(A1:A2)
(C) A1+A2 (D) SUM(AT:A2)
An excel workbook is a collection of:

(A) Worksheets (B). Charts
(C) BothA&B (D) None of these

Where is Shah Jahan's tomb located?
(A) Delhi (B) Sikan
(C) Agra - (D) Fatehpur

Which command is used to add data in excel:
(A) ADD (B) COUNT

(C) SUM (D) None of these -
ghe famous book “The Republic” was written

(A) Socrates (B) Plato

(C) Aristotle _ (D) Alexander

| am sick this idle life.

(A) of (B) in

(C) on (D) with

Which country is in the west of Pakistan?-
(A) China - (B) Iran

(C) India - "~ (D) Afghanistan
Antonym of Dastard:

(A) Open - (B) Concise
(C) Craven (D) ‘Hero

Which surah of the Holy Quran in which Allah
has promised to protect the Holy Quran? :
(A) Surah Al-Anfal  (B) Surah Al-Maida :
(C) Surah Al-Hujurat (D) Surah Al-Baqarah
When was Liagat Nehru Pact- between India
and Pakistan signed? .

(A) 1950 (B) 1955

(C) 1958 (D) 1964

Average weight of 10 people increased by 1.5
kg when one person of 45 kg is replaced by a
new man. Then weight of the new man is

(A) 50 (B) 60
(C) 70 - (D) 75
Solution '

Total weight increased = 1.5x10 =15
Weight of new man is = 45+15=60

Ali is my best friend. Best is which part of

speech: .
(A) Noun - (B) Verb
(C) Adjective (D) Adverb

part of speech:
(A) Noun- (B) Verb
(C) Adjective (D) Adverb

National Command and .Operation 'Center

(NCOC) was formed in:
(A) March 2020
(C) May 2020

(B) April 2020
(D) June 2020

NAFTA stands for:

83.

84.

85.-

- 86.

87.

88.

89.
.~ repulsion:

(C) Coulomb (D) None of these
S LK 90
g (B) 19 (A) _' |
u’“d/c_u"ul 4/ (©)
Jﬂ/u,mu,ub/.ﬂ/‘!}t/ Lf’u‘u’(yu 91
| te AW Uk
oi? (B) =J (A)
£/ D) =3 (C)
| v.f_;n/bfuwuf T/ .92
L/u. (8) bzt (A)
uwd,féwu, (D) LS Fer (C)

olume 2

(B) North American Free Trade Association
(C) North Alliance Free Trade Agreement
(D) North Amencan Free Trade Agreement

sheet of ice.

Glacier is a
(A) Fast moving ~(B) Slow- movang ,
(C) Static (D) None of these

Another name of K2 is:
(A) Godwin Austen (B) Broad Peak
(C) Koyo Zom (D) None of these

Shortcut key for page break in MS Word:

(A) Ctrl+Enter (B) Ctrl+Space

(C) Shift+Enter (D) None of these
The first network that initiated Internet was: -
(A) Vnet (B) Inet

(C) ARPANET (D) NSFNet

Change narration: He said to him, ‘Thank you
for your kind help.’

(A) He thanked him for his kind help

(B) He requested him for his kind help

(C). He told him for his kind help

(D) He asked him for his kind help

Change voice: Please give me your pen and

take your seat.
(A)* Let your pen. given me and take your

seat.
-(B) You are requested to give me your. pen

and take your seat.

(C) You are warned to give me your pen and
take your seat.

(D) You are ordered to give me your pen and
take your seat.

Who discovered the force of attraction or

(A) Faraday (B) Wander wall

°:_J¢/w’dﬂ~) 93
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B 14. C 27. D 40. C 53. C 66. B 79. C 92. C
D 15. D 28. A 41. A 54. C 67. B 80. D 93. A
B 16. B 29. C 42. B 55, C 68. A 81. B 94. B
C 17. C 30. C 43. C 56. B 69. C 82. D 95. " C
A 18 A 31. D 4. C 57. C 70 C 83. B 96. B
C 19. C 32. B 45, A 58. B 71. C 84. A 97. A
D 2. C 33. C 46. B 59. B 72. B 856. A 98. A
A 2. C 34. C 47. C 60. C 73. A 86. C 99. B
B 2. A 35. B 48. C 61. C 74. B 87. A 100. D
B 23. B 36. A 49, B 62 C . 75 D 88. B
A 24. B 37. A S50. C 63. A 76. C 89. C
B 25 C 38 B 51. A 64. C 7. A 90. B
A 26. C 39. A 2. C 65. A . 78 B 91. C
¢

Papers of 2023 571

PRV JL 97
LU (A)
cSESS (©)
S‘..:'__l(f}:'ﬂa,g‘." .98
45 (A)
144 (C)

vidy (B)
S et (D)

eolad (B)

S et (D)

ASSISTANT DlRECTOR ACCOUNTS / BUDGET AND
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Stock exchange is known as
market for securities.

(A) Primary market

(B) Secondary market

(C) Capital market

(D) Service value and monetary cost

Right shares are the shares:

(A) Offered to . the
shareholders

(B) Issued by a newly formed company
(C) Legally issued to the pubhc at large

existing

equity

(D) That have a right of redemption
Net profit ratio is a:

(A) Long term solvency ratio

(B) Short term solvency ratio

(C) Turnover ratio

(D) Profitability ratio

. Liquid ratio is also known as ratio:

(A) Inventory

(B) Current
(C) Acid test

(D) Debt equity

In his traditional role. the finance manager is
responsible for ;
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Assistant BS-16, Aariculture (Directo
Pesticides Winq Assistant BS-16.Aar

Assistant BS-16 Agriculture (Plannina Evaluation

litv Cont '
EST warnina & Qua rol of
ggtﬁtf‘;;n?é:'t;‘slon, & Adaptive Research Win

Cell Assistant BS-1 G'Aqficmturg

Wing Assista
Research Winqg Assistant BS-16,Aariculture Water Management nt Bs.
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Engineering (Office of the Chief Engineer South Punja

To put up with means:

(A) To understand (B) To adjust

(C) To tolerate (D) To accommodate
Which country first accepted Pakistan:

(A) China (B) Iran

(C) Iraq (D) Saudi Arabia

Dun‘ng the lecture, the teacher stood
dais.

(A) at (B) on

(C) tothe (D) of

The synonym of Paltry is:

(A) Admirable (B) Insignificant

(C) Valuable (D) Irreplaceable
Select the pair  which has the same

reiationship. Wisgom- Sagacity

(A) Denigrate: Devalue

(B) Primary: Secondary

(C) Search: Quest

(D) Highway: Junction

Passive Voice of “The people elected him
Mayor”.

(A) Him was elected Mayor the people.
(B) He was elected Mayor by the people.
(C) Mayor is elected by the people.

(D) He is elected by the people Mayor.

Anjuman Himayat-e-Islam was founded in:

(A) 17989 (B) 1822

(C) 1884 (D) 1900

Which year was Dr. Abdus Salam awarded
Nobel Prize

(A) 1869 (B) 1978

(C) 1879 (D) 1989

The old woman lived alone, with to
look after

(A) Someone / her
(C) Everyone / she (D) No one / her

An  international agreement  concluded
between States'in written form and governed
by international law, whether embodied in a
single instrument or in two or more related
instruments and whatever its panticular

(B) Anyone / herself

" - designation is;

(A) Hague Conventicn on the Law of Treaties
(B) Vienna Convention on the Law of

1) [

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Treaties A
(C) Geneva Convention on the |ay of
Treaties
None of these _ _
g?ba Farid belongs to which s'ufq order:
(A) Suharwardia (B) Chlslga
(C) Nagsbandi (D) Qadria

Stoke is to Cook then:
(A) Sun: Heat
(C) Planet: Galaxy

Cat is to Kitten then:

(B) Moon: Star
(D) None of these

(A) Duck: Cat (B) Cow: Calf
(C) Bear: Deer (D) None of these
Select the pair which has the same

relationship. After: Before

(A) First: Second (B) Present: Past
(C) Contemporary: Historic

(D) Successor: Predecessor

He the bank when police caught him.
(A) stealing (B) was, stealing
(C) stole (D) had stole

Who is trying to defend you. Here who is:
(A) Demonstrative pronoun

(B) Intensive pronoun

(C) Interrogative pronoun

(D) Possessive pronoun

Select the pair which has

relationship. Umbrella: Rain

(A) Light: Sight (B) Glare: Stare
Vaccine: Disease (D) Wear: Wool -

The Famous Book “The Daughter of the East"

IS written by ‘

(A) G Allana (B) k. K Aziz

(C) Benazir Bhutto (D) Ayesha Jalal

The antonym of Egregious is:
(A) Ordinary (B) Enchain
(C) Acquit (D) Consummate

The idiom “To bury the hatchel® mean:
(A) To make peace |

(B) To make a foolish choice

(C) To make a wrong decision

(D) To lose somaething

Which Province of Pakistan is called
Islam?

the same

Bab-.y|.

8 e s
f- LN



ab (B) Sindh i
(A P”?(] (D) Balouchistan
© KP First Muslim Hijab woman elected
2 Namer::;zr of Israel Parliament in March 2020
f sMe

e|ectlon55

Haneen Zoabi  (B) Iman Khatib-Yasin
(A)

Hussniya Jabara (D) Nadia Hilou
(C) Courts are established in Pakistan
2. Mimﬂ% 21st for the period of:
i 2gyears (B) 3years
(é; 4 years (D) 5 years
. Bundar is located in: .
2 If)ﬂ gﬂrr:jab (B) Sindh _
fC) KPK (D) Balouchistan

Malala Yousafzai graduated frofn which

Stanford (B) Oxfor
gé% Cambridge (D) None of these

26. When Muslim League joined the interim

vernment:
?;\J) 1945 (B) 1946
(C) 1947 (D) None of these
. The meaning of Take up is:
d (A) Lose (B) Start
(C) Give up (D) Cease

28. The largest cluster of population is in:
" (A) South Asia (B) Southeast Asia
(C) Europe * (D) None of these

29. Which river flows in Balouchistan?

(A) Zhob River (B) Gomal River
(C) Dasht River . (D) All of these

30. Dyarchy system “firstly used in subcontinent
b .

(A) British Government
(B) Indian Government
(C) Pakistan Government
(D) None of these

31. Cyclone is basically:
(A) Violently rotating column of air _
Large system of winds
'(C) Permanently frozen layer
D) None of these

32. Which term is wrong in this series: 140 340
940730 940 1140 -
(A) 54 |

(B) 730 \
(C) 940 (D) 1140
Solution '
340-140 = 200
540-340=200

730-540= 190 which is wrong, wrong term is 720
B 1P, = 360 and 1 °c, = 15, find r-

(A) 3 (B) 4
C) 5 (D) 6
Solution

M=4x3x2x1

l=4) 3r=4

34,

35,

36.

a7.

38.

39.

40.

41.

42,

43,

44,
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A man walked for 113 hour and then got an
automobile ride for 1/2 hour. What part of tire
consumed he ride on automobile:
(A) 0

: (B) 0.5
(C) 0.6 (D) 0.7
Solution

LI D T B
Total time of his Journey S Yzm rafat-te
How many cubes of 1 ctm we can cut from a

cuboid of the dimension of 10cm » 12cm «
15¢cm:

(A) 180 (B) 1800
(C) 160 (D) 1600
Solution
No of cubes=10x12x15 o« BN 1800
1x1x1 1
How many organs are required to form z
state?
(A) 1 (B) 2
(C) 3 (D) 4
What is currency of Sri Lanka?
(A) Dollar (B) Takka
(C) Rupee (D) Lira
Muslim League Started the Day of
Deliverance in:
(A) 1937 (B) 1939
(C) 1946 (D) 1947
Yellow river is located in:
(A) China (B) Us
(C) Austria (D) South Africa
Jammu Kashmir Liberation Front wants to get
independence from: . ,
(A) India

(B) Pakistan

(C) Both India & Pakistan
(D) None of these
Conflict over the border region claimed by two
countries for area: i

(A) Wadi Halfa Salient -
(B) Nagorno-Karabakh
C) Bajo Nuevo Bank
(D) None of these

What are cyclones in Australia known as?
(A) Hurricane (B) Typhoon

(C) WiIIy’—WiIlies (D) Tornado
When balochi tribe join Pakistan:

(A) 10 June 1947 (B) 17 June 1947
(C) 29 June 1947 (D) None of these

A fraction becomes 4/5 when 1 is added to
each. of the numerator and denominator.

However, if we subtract 5 from each then it
becomes 1/2. The fraction is

(A) 5/8 (B) 5%
(C) 719 (C) 131186
Solution

Let the fraction --f then by given condition
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45,

46.

47.

48.

49.

-costof 72sqkm =72 x

_Advanced PPSC MCQs Model Papers (Volume 2)

X+1 4

x—5_1
y+1°§ y-5 2
Use options instead to solve equations put option
C7/9 inwhich x=7 ang y =9 then
X+1

—

Y+1 5 941 10 5_5§
y

and

Similarl

x-S 1_7-5 2 1.1
Y-5"2 9-5 422
How many two digit numbers are there which
are divisible by 11: -
(€) 9 (D) 11
Solution

The two-digit numbers which

are divisible by 11
are 11, 22, 33,

44, 55, 66, 77, 88, 99. Hence, there
are9 two-digit number which are divisible by 11

AX+2y=5 3x-6y=20 In the system  of
€quations above, a s a constant. if the system

as one solution, which of the following
?Znnot be the value of 37

P (B) 4
(C) 1 (D) -3
Solution
Condition for sy
is -
Ay/A, = B,/8B,
givenAl=a,A2=3,

stem of equation to have solution

Bl=2 ,B2=-6

Put all values we have
a 2 6 - 4
i

If the price -of carpet 8-meter-long and 3-
meter-wide is Rs.6288, what will
of 12-meter-lon

(A) Rs. 16654
(C) Rs. 21345
Solution

Area of the first carpet = 8m x 3m = 24 sqm
Area of the second carpet = 12mx 6m=72sq
cost of carpet of 24 sq m = 6288

i 6288

—_—

24

9 and 6-meter-wide carpet;
(B) Rs. 18864
(D) Rs. 12768

18864

Which crop requires high temperature, light

rainfall or irrigation, 210 frost free days and
bright sunshine for its growth? N

(A) Jute (B) Wheat
(C) Cotton (D) Rice _
Which - of the following is correct’ emai
address: - _

(A) username@.com

N

- (B) username@website.info
" (C) username@.pk

- 50.-

(D) None of these

What is the full form of SQL:
(A) Structured Query Language

be the price

51.

52,

Structured Query List
Eg)) Simple Query Language
(D) None of these

Which of the following replaced the Vacy,,
s? _

Ext))eBattery (B) Capacitor

(C) Transistor (D) None of thegg

Which toolbar has a slide design ¢
PowerPoint?

(A) Drawing toolbar

(B) Standard toolbar

(C) Formatting toolbar

ption Ms

(D) None of these

53.

54.

55:

- 56,
. (COAS

57

58.

The Blue Lagoon is located in:
(A) Greenland (B) Iceland
(C) Florida (D) None of thesg

Soviet'leader Mikhail Gorbachev's

glasnost and perestroika resulted in;

(A) the sudden introduction of capitalism ang
democracy to the Soviet Union.

(B) A new willingness to tolerate significant
changes in Soviet society,

(C) The strengthening of the Sov
domination of Eastern Europe,

(D) The Soviet Union's withdrawal from' the -
nuclear arms race.

Which- women scientist research led to the
foundation of fiber optics?

(A) Dr. Shirley Jackson - -

(B) Maria Mitchell

(C) Rosalind Elsie Franklin

(D) None of these

General Qajar Jived Baia, Chief of Army Staff
endorsed. - punishment to

_ on the charges of leakage of
sensitive information. '

(A) Brigadier Salem Nawaz
(B) Brigadier Raja Rizwan
(C) Major Aslam Igbal -

(D) None of these

policies of

iet Union's

- Study of tissues is called:

(A) Histology

(B) Cytology
(C) Anatomy

- (D) None of these

CENTO stands for:

(A). Central Treaty Organization
) Command Treaty Organization

(C) Central Territory Organization

- 59,
" (A) Upper case

. 60.

61.

' (C) 2003 . . o
‘Which part of the Camera is analogue to the

(D) None of these

Which of the following cannot change fontg?
(B) Lower case
(C) Togglecase (D) Indentcase .

“came in foreign policy of Pakistan,
A U-Turn came in foreign policy o istar
after world launched war against terrorism jp.

1
(A) 2000 Egg ggg .

~ 'retina in the human eye?




Lens ﬁg)) girl\r::tter
(A) 2 erture -
(C) :pzuch as Netball, |Hcckey and Football
gports ich type of skill: _
6 volve :‘: |g;:killé’p (B) Fine Skl||§u
(é) gﬁase skills (D) Gross skills

world War Il which battle support was most
3. In 7 |
needt it (B) Air Support
|ear SUppO
(é) ::Sael support (D) None of these

ipherals are connected to the
64. /’)'\')c%rg%mer s B) Motherboard

gc) Keyboard (D) None of these

nuclei model given in:
g {Av»;o1935 (B) 1940
(C) 1945 (D) 1950

g6. On which agreement Muslim League,

Congress and Sikh fully agreed with Lord
Mountbatten:

(A) Government of India Act 1935
() Indian Independence Act 1947
(C) Objective agreement of 1948
(D) None of these .

67. Longest Ayat of Quran is
Al-Bagarah. . ‘
(A) Ayat No 282 (B) Ayat No 284
(C) Ayat No 286 (D) None of these

68. What was the title of Allama Igbal's PhHD

Thesis? ‘

(A) The Development of Metaphysics in
Persia

(B) Reconstruction_of Religious Thought in
Islam '

(C) Concept of Social Justice in Islam
(D) None of these

69. Red sea is connected to which gulf through
Bab-el-Mandeb strait- :

(A) Gulf of Oman  (B) Gulf of Mexico
(C) Gulf of Aden (D). Gulf of Alaska
70. Who abrogated 1956 Constitution?
(A) Tikka Khan (B) Ayub Khan
(D) Iskandar Mirza

(C) Yahya Khan
7. Which cricket world cup jointly host by
(B) 1987

Pakistan and India:
983
(D) 2011

(A) 1
ted between

of Surah

-(C) 2003

-T2 The Gulf of Bothnia is situa
(A) Finland & Denmark
(B) Finland & Sweden
_(C) Norway & Sweden.
(D) None of these.
73. The Cyber
launched on:
- (A) December 1% 2014
(B) December 1% 2015
(C) December 1* 2016
(D) December 1% 2017

Harassment Helpline was

\

74.

75.

78.

77.

78.

79.

80.

81,
82,
83,

| 84.

85,
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Soft power is: -
(A) Weakening hegemonic influence '
(B) .Collaboration among several emerging
powers
(C) Getting others to agree with you without
. using coercive force
(D) The influence of financial institutions

President of Pakistan is elected by:
(A) National Assembly

(B) Senate

(C) Provincial Assemblies

(D) All of these

Normal blood pressure measured in millimeter
of mercury is: ,

(A) 120/100 mmHg (B) 120/80 mmHg

(C) 1001100 mmHg (D) 120/50 mmHg

The main Role in the Drama "Waris" js acted
by:

(A) Abid Ali (B) Talat Siddiqui

(C) Mehboob Alam (D) None of these
The boiling point of water depends upon the: .
(A) Atmospheric pressure

(B) Mass

(C) Density

(D) Volume

Animals which are no longer present on earth
are called:

(A) Wildlife animals

(B) Habitat

(C) Extinct animals

(D) Endangered animal

The Jallianwala Bagh massacre is also known
as:

(A)  Delhi massacre

(B) Ludhiana massacre

(C) Amritsar massacre

(D) None of these

Battle in  which Holy Prophet (PBUH)
participated is known as:

A) .Sayee (B) Sarriya

(C) Ghazwa (D) None of these

How many masarif of Zakat mentioned in the
-Holy Quran;

(A) 6 (B) 7

(C) 8 (D) 9

What does Taraweeh means: -

(A) To stand (B) To sit

(C) Torest (D)1 To pray .
Which two surahs are called Mauzatain?

" (A) Surah Al Baqarah and Surah Imran

(B)* Surah Falak and Surah Naas
(C) Surah Ahzab and Surah Feel
(D) None of these . :

The Time taken-for sunlight to reach the Earth
is:. Fccehan Y

(A) 8 minutes- y

(B) 8 minutes 20 seconds
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86.

= A5

LONoOALNA

Lo D)

(C) 8 minutes 30 seconds
(D) 9 minutes

Satpara Lake is in:
(A) Swat

(B) Gilgit-Baltistan
(C) Haripur

(D) None of these

. Stlnger missile were given to Pakistan in

which war:
(A) 1971 war
(C) Afghan War

’L«LI&.@ e

(B) 1965 war
(D) None of these
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TRICT TRAINER (BS-16) LITERACY & NON FORMAL BASIC
oIS EDUCATION, DEPARTMENT2023-3682022 12-03-2023

Humanistic approach to psychology was
* founded by:

(A) Wundt and James

B) Rogers and Ma_slow

) Watson and Skinner

(D) Freud and Jung

The real name of Gama Pehiwan was:
2 (A) Ghulam Mohammad Baksh Butt

(B) Mehr Din Shams

(C) Kazim Khawar Hayat

(D) None of these

3. Child is no'more egocentric in whi
~ piaget cognitive development:

(A) Sensorimotor Stage

(B) Preoperational Stage

(C) Formal Operational Stage

(D) Concrete Operational Stage

4. Which teaching methods is used for science
subjects ;
(A) Demonstration  (B) NPT
(D) None of these

(C) Observation
5. focus was on the scientific- study
that could be

ch stage of

of observable behavior
objectively measured and verified.
(A) Psychoanalysis's

(B) Structuralism’s

C) Functionalism's

(D) Behaviorism’s

"A Child can think logically about objects and
évents" This is the characteristic given by
Piaget of stage:

Concrete Operational
(B) Sensory Motor
(C) Formal Operation
Pre Operational

I. LNhich type of chart is best for categorical
ata:
(A) Pie chart (B) Histogram
Maps (D) Vertical bar
8. Which of ‘the following is used to create web
Pages: ' '
(A) HTTP (B) HTML
(C) URL - (D) FTp
9. '

What is the other name of Null Hypothesis?
Directional hypothesis
Scientific hypotheses
Research hypothesis
) Statistical hypothesis

10., Assessment at the end of instruction is called:
Formative (B) Summative

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

(C) Norm-referenced (D) Confirmative

'Economics is the science of wealth' was
defined by '

(A) Adam smith_
(C) J.K Mehta

Education as an o
included in matric an

(B) Robbins
(D) None of these

ptional subject for was '
d inter in which education

policy:

(A) 1970 (B) 1972
(C) 1974 (D) 1976
Which of the following is output device:
(A) Mouse (B) Keyboard
(C) Printer

(D) None of these
Who is called pioneer of Idealism:

(A) Aristotle (B) Plato

(C) Socrates (D) Alexandar
What is the chemical formula of sugar: -
(A) CH,COOH (B) CgH4204

(C) C13H,,04, (D) None of these
The graph used to show data on nominal
scale is called:

(A) Line graph
(C) Speed graph (D) None of these -
Vice principal is working in place of pri'ncipal it
is called: »

(A) Job seek _

(B) Job replacement
(C) Job research
(D) None of these

X ~
Statistical techniques used to com
cf more than two groups is:

(A) Analysis of Variance '
(B) Linear correlation and regression
(C) F-test for precision - ‘
(D) None of these

Specific ob

(B) Pie graph

pare mean

jectives are concerned with:
(A) Planning (B) - Lesson

(C) Management (D) None of these

approach to counseling also known as
Individual Psychology: :
(A) Psychogn‘alysis theory
(B) Adlerian theory
) Behavioral theory
(D) Humanistic theory

According to Human ‘Development Index
literacy rate of.Pakistan in 2019 was: ‘
(A) 56% (B) 57%
(C) 58% (D) 59%

Assessment where comparison of stu_de_nt '
performance with other student is made with:

O
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(A) Criterion-referenced assessments
(B) Norm Referenced Testing

(C) Diagnostic assessments

(D) None of these

23. Assessment conducted . during learning
process to improve student performance is: -
(A) Summative (B) Formative
(C) Diagnostic , (D) None of these

24, Knowledge acquired through culture, skills
and tradition is fall in which philosophy:
(A) Essentialism (B) Totalitarian
Epistemology (D) None of these

25. What is the function of the F4 key in a

Spreadsheet?

(A) Change font

(B) Repeat the last action .
(C) Choose open command
(D) Open bookmark

26. _Teachey is feeling difficulty in class in bringing
In real life objects and he wants to overcome it
?e will use:
A) Models (B) Research
(C) BothA&B (D) None of these

27. An outline of the topic of the subject to be
covered in specific time is called what:

(A) Syllabus (B) Outline
(C) Course (D) None of these

28. Which is the easiest step in bloom's
taxonomy?
(A) Understanding (B) Remembering
(C) Applying (D) Creating

29. “Schools should be run on democratic lines” is
held by: |

(A) Reconstructionism
(B) Progressivism
(C) ldealism

- (D) Essentialism

30. Democracy and education is a book “written
by: | :

(A) Maria Montessori (B) John Dewy
(C) Mahatma Gandhi (D) None of these

31. Which sociologist argued that school is a

miniature and reflection of society rather than

an individual?
(A) Emile Durkheim (B) John Dewey
(C) Talcott parsons (D) Karl Marz

32. The standard time duration of a micro
teaching cycle is: p
(A) 12 minutes (B) 24 minutes
(C) 36 minutes - (D) 60 minutes

33. Think-Pair-Share and Jigsaw are examples of:
(A) Cooperative learning .
(B) Management ideas :
(C) Circle learning 5
(D) Collaborative learning ,

34. Making value judgment about curriculum is:
(A) Curriculum design
(B) Curriculum evaluation
(C) Curriculum development
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(D) Curriculum elements

35. Khilafat movement was ended
(A) Quaid-e-Azam

Gandhi _ v
chJ)) Maulana Muhammad Ali Johar :

(D) None of these
36. Attitude, beliefs, norms and values are begt

studied in: (B) Survey

Observation
gég Management (D) None of these

i ildren for who
_ Al experiences of the child en. m
¥ schoolgssumes rggponmbnhty is:
(A) Curricular activities
"(B) Co-curricular activities

(C) School program
(D) Curriculum

38. Neslon Mandela belongs to which country:
(A) Brazil (B) Mangolia.
(C) South America (D) Squth Africa

39. Education imparted in a series of lessons or
class meetings is called:

by:

A) Course (B) Curriculum
EC% Text (D) Syllabus.

40. Copying artwork falls under which learning
domain:

(A) Cognitive domain (B) Affective domain
(C) Psychomotor domain
(D) None of these

41, Active learning method is:
(A) Remembering  (B) Debate ,
(C) Home work (D) None of thee

42. The S in apostrophe is used with noun to
~ show: SRR :
(A) Collective
(C) Possessive

43. HTTP stands for:
(A) Hypertext transfer processor
(B) Hypertext Transfer Protocol
(C) Hypertext Transport Protocol
(D) None of these

44. The process of using sample statistics to draw
conclusions about true population parameters
is called: / '

= ' (A) Descriptive statistics
(B) Statistical inference
(C) Scientific method
(C) Sampling

- 45. Students are passive in:
~ (A) Project method {(B)  Discovery method
. (C) Inquiry methqd (D) Lecture ;y'uethod
46. A summary -measure -that is computed to

describe a characteristic fro ;
of the population is calleg: m only:a sample

(A) Statistic (B) Scientific method

(B)\ Concrete
(D) Attributive

. (C) Census ) Parameter

47. “Cognitive theory” of learn: By
(A) Skinner a’"‘“,;?a‘c’,gs given by:
(C) Tolman iajetv :

. ’ ‘ i/
- & ™
; i 7 3
o T i
—m RSl _ - \-“__




. nahi was promoted by:
" (f}{’)‘"gfgér (B) Hamayoun
C

Jahangir (D) Akbar
io is a collection of:
4. Poﬁfggct’a' (B) Investments
(é; Problems (D) Theories

who composed the National - Anthem ' of
50. istan?
p:)kusA lama Igbal {B) Hafeez Jalandhari
§C) Ahmed G. Chagla{D) None of these

Goodness deals with aspect of
" philosophy- '

PA) Ethics (B) Axiology

(C) Epistemology (D) None of these

52. The reasoning from General to Particular is
" called: .
c:) Inductive reasoning
(B) Deductive reasoning
(C) Analogical reasoning
(D) Creative reasoning

53 Evaluation is the process of:
" (A) Determined the extent of achievement of
objectives

(B) Ascertaining the quality, the value of
outcomes

(C) Comparing the outcomes of instructions
(D) All of these

§4. Cosmology is a study of:
(A) Religion (B) Universe
(C) Skin (D) Stars

55. A set of instructions that directs a computer's
hardware to perform a task is called a:
(A) Command (B) Program
(C) Operating system (D) None of these

5. The Socratic method is known as:
(A) Discussion method .
(B) Lecture Demonstration Method
(C) Inquiry method
(D) Question-Answer method

51. Effective lesson plan is useful for:
(A) Social sciences
(B) Physical sciences
(C) Economics
(D) None of these

38. Enables lectures to understand science using
scientific method is termed as:
(A) Naturalism (B) Curiosity
(C) Observation (D) None of these

59, Which Act for the first time made it possible.

for Indians to take some share in the
administration of their country:

(A) Indian Council Act 1861

(B) Indian Council Act 1909

(C) Government of India Act 1935

(D) None of these

60. Theory developed deductively under which .
research paradigm:

(A) Positivism (B) Descriptive
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(C) Predictive (D) None of these

61. Intelligence is a possession of an individual
who have the right to exercise it said by:
(A) Stedman Graham(B) John Dewey
(C) Ralph Nader (D) None of these

62. Selection of people for research purposes is
called: '
(A) Sampling
(B) Applied research

(C) Exploratory Research
(D) None of these

63.. The most repeated number in data set is
called:

(A) Mean
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(B) Median
(C) Mode (D) None of these
64. A test is said to be _if it measures

futqre professional interests or skills of an
individual.

(A) quluatipn test (B) General test
(C) Aptitude test (D) None of these

65. Employees are lazy according to which

theory:

(A) Theory X (B) TheoryY

(C) Theory Z (D) None of these
66. MB stands for:

(A) Milibyte (B) Megabyte

(C) Microbyte (D) None of these
67. COVID-19 variant start from which city of

china:
(A) Beijing (B) Shanghai
- (C) Wuhan (D) Tianjin

68. Type of learning in which association of

stimulus rarely illustrates a particular response-

with another stimulus that illustrates a
response:

(A) Classical conditioning

(B) Operant conditioning

(C) Non-Operant conditioning

(D) None of these

69. The college employees other than faculty
assisting the activities of institutions is called:
(A) Staff (B) Upper class
(C) Lower class (D) None of these

70. Lesson starts from:
(A) Previous knowledge
(B) Forwarding knowledge
(C) Current knowledge
(D) None of these .

71. "To start curriculum one should make sure that
curriculum should be: . :
(A) Relevant with subjective
B) Relevant with objective
(C) lrrelevant with objective
D) None of these

72. To determine objective of edggation which
‘ i as basic source:
one is considered e .

(D) None of these

(A) Philosophy
(C) BothA&B
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73. The leave granted -shall not be
debited to the leave account. _
(A) Freedom (B) Quarantine
" . (C) Access (D) None of these

74. Research conducted in which type of method:
(A) Observational  (B) Experimental
(C) Analytical (D) None of these

- 75. If xxy=x 2 +y? =xy then the value of 9x11 is:

(A) 93 (B) 103
(C) 113 (D) 121
Solution

Putx =9 and y = 11 in RHS we have
- 9x11 =9x9 +11x11 -9x11

=81+121-91
= 202-91 = 103
76. The antonym of feral is:
(A) Wild (B) Raw
(C) Tame (D) Ignorant

77. The use of traditional classroom strategies
and online learning techniques together is
called as:

(A) Auditive learning (B) Blended learning
(C) Visual learning (D) None of these

78. Last Caliph of the Ottoman Dynasty was:
(A) Abdul Majid (B) Abdul Hameed
(C) ‘Abdul Nasir (D) None of these

79. While writing a textbook the writer should be
aware of the:
(A) Learner (B) Content
(C) Society (D) All of these

80. Well is which part of speech:
(A) Conjunction (B) Interjection
(C) Noun (D) None of these

81. The educational institutions, libraries,
hospitals, and industries store the concerned
information by: '

(A) Operating system
(B) Data management
(C) Informing system
(D) Word processing

82. The term spiral curriculum was given by:
(A) Jerome Burner (B) William James
(C) Ivan Paviov (D) None of these

83. An oil burner in a housing development burns
76 gallons of fuel oil per hour. At 9am on a
very cold day, the superintendent asks the
housing manager to put in an emergency
order for more fuel oil. At that time, he report
that he has on hand 266 gallons. At noon, he
again comes to the manager, notifying him
that no oil has been delivered. The Maximum
amount of time that he can continue to furnish
heat without receiving more oil is .

(A) 1 hour (B) %2 hour
(C) 2 hour (D) 2/3 hour
Solution

Oil burner uses fuel per hour = 76 gallons

84.

85.

86.

87.

88.

80,

90.

91.

93.

94,

He had total 266 gallons at 9.00 am »
Time he can consume fuel = 266/76 = 3.5 hoyrg

At noon (12pm) he had fuel left for = % hours = 30

minutes
A test taken again from the students afte,

A 1es ives the same result is_
little time gives the (B) Invalid

Valid ¢
fé; Reliable (D) Unreliable
My father didn't like the music __
(As; nor am | (B) norlam
(C) as me (D) None of these
The source of knowledge for Islamje
education foundation based on: :
(A) Quran (B) *Sunnah
(C) Figah (D) All of these
Which of the following is the nature of
curriculum? '
(A) Critical (B) Creative

(C) Conservative (D) All of these

A study of conducted to cc_)llect data from
different groups of a population at the same
time: .

(A) Ecological studies

(B) Clinical trials

(C) Cross sectional study

(D) Sampling Strategies

Which is the best practice control internal ang
external threat to validity?

(A) Sequence (B) Analysis

(C) Randomization (D) None of these

Epistemology is the branch of philosophy
concerned with the theory of: -
(A) Education (B) Learning
(C) Knowledge (D) None of these

To test the ability of individual about his own
emotions and other personality to judge or
take decisions:

(A) Spiritual Intelligence -

(B) Emotional Intelligence

(C) Social Intelligence

(D) None of these
92.

Every system of education is based on:
(A) Ideology of nation

(B) Social development

(C) Intellectual development

(D) Skill development

According to Dewey child js:

(A) Rote Learning

(B) Active builder of knowledge

(C) Authoritarian teaching methogs
(D) None of these T

In a process, quantity or condition s .
c0ntroﬁ alters to initiate change in the Vaal‘tt‘e“:)ef
the regulated condition is:

(A) Dependent variable ,

(B) Independent variable

(C) Controlled variable : : E
- (D) None of these 7 9
- s ’



pe Main PUPOse of the
ieaching should be the
A) Adyancement of pup) welfare
B) Proper utilization of schoo) facilities
_(C) Carrying-out of the curriculum
(D) Achievement of success
curriculum Is supposed to:
A) Be organized by the schog)
g) Achieve the objective
- (C) BothA&B

(D) None of these

. Supervis
0 £ on  of

3,
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(B) Cephalocaudie panciple
(C) Pnnciple of independence of systems
(D) Proximodistal principle

- 2L *

lh— J"‘v L‘t.—'\' * U_“ (%3

A0 99
— (A)
£ (©)

- i v
- L".—-vv

!_/T (B)
U'E')&:":_..,'-'g“ (D) .

' s -':"JE'-'J;L‘%.':’MJOO
“gchool is microsystem of: sy,
g (SA) Society (B) Education SexEE (B) et (A)
(C) GUldanGe None Of these ¢ l 1/_. o 2 A .F J‘ (C)
" inciple th S et (D) g
g3, The principle that development first start from
head towards other parts of body is:
(A) Prnciple of hierarchical integration
Answer Ke
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ASSISTANT ADMINISTRATIVE OFFICER (BS-16) INFORMATION

& CULTURE DEPARTMENT (PUNJAB COUNCIL OF THE
2023-44H2022-29-_04-2023

1. One side of a rectangle is 12 ¢m long and its

diagonal measures 20 cm. Find the other side
and the area of the rectangle.

(A) 152 cm? (B) 172 cm§
gc: 192 cm? (D) 202 cm
olution

Two sides and one diagonal joins to make a right

angle triangle. And we can use Pythagoras

theorem to find other sides, which.is

(Hyp)? = (perp)? + (base)®

(201 = (12)2 + %2

400 = 144 + x*

00-144= -
6=k Sx=162=x=16

h)

lff14410.144=14.4/x then what will be the value
of x; IR :

\

ARTS)
- (A) 0.144 (B) 144
(C) 14.4 (D) 0.144
Solution
144 = 14_4 =144+ 10000 _ 144 < 10000
0.1444 X

1444  10x 1444
1 100000 "1

“10x - 1444  x
"M 144

=_; . 4 :
100000 0.0144

Jane is playing a board game in_wh_ich she
must collect as many cards as possible. On
her first turn, she -loses 18 percent of her
cards. On the second turn, she increases her
card count by 36 percent. If her final card after
these two turns is n, which of the following
represents her starting card count in terms of
'n? ~ ,
(A) n/(1.18) (0.64)'. (B) (1.18) 0(.64) n
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10. Pakistan China border agreement was Signeq
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(C) n/(1.36) (0.82) (D) (0.82) 0(1.36) n o (B) 1953
Solution ' ‘(é) 1863 (D) 1967
SEL AT Pl o X 0.18x = 1 f(-io)w many countries does the RHine River
Remaining card after losing 18% = x — O. 1. pass through? (B). "
0.82x 4
After second turn she got 36% increase = 100 + ?‘C\; 6 (D) 7
36/100=1.36 Pakistan Super League 2019 won by:
Total cards = 0.82 + (1.36)(0.82x) 12. ZX‘)& Peshawar Zalmi
After these two turns final cards are =n, then (B) Muitan Sultqns
x=—l—3"TBz (C) Quetta G?f}ﬁ}gj
(._6)(- ) 5. " (D) Islamaba . riani :
A Watb=athen (ash) -B 8 13. Which of the foilowing nutrien as the
(‘8 :160‘ ((D; :12 ) highest calorific value? B) Fats
i (A) Carbonydrates . | Proteins
g_oluu(onb) 2 (C) Vitamins (0) oo o
VeIt 340 - A Tai rom China’
Taking cube on both sides, we have (a+b)* = (-2)? 14. When did Taiwan sepa(rg;e194g
3 ' (A) 1947
(a+b)’=-8 , (C) 1963 (D) 1977
5. Kriya deposits an amount of RS. 65800 to Jason can install at least g
obtain a simple interest at the rate of 14% per 15. ‘l’;nggsvsh&:"trho more than 8 windows. Which

annum for 4 years. What total amount will
Kriya get at the end of 4 years:

(A) Rs. 102648 (B) Rs. 115246

(C) Rs. 125578 (D) Rs. 110324
Solution

SI=PxR/100xT )

S.I = 65800 x14/100x 4 = 658 x 14 X4 =Rs. 36848
Final deposit = 65800 + 36848 = Rs. 102648

6. What will be the simple interest on Rs. 4000 at

12.5% per annum for the period from 4th
February, 2005 to 18th April, 20052

(A) Rs. 215 (B) Rs. 120

(C) Rs. 200 (D) Rs. 100

Solution .

Time = (24+31+18) days = 73/365 years = 1/5
years

S.I=p x R/100 xT
5.1=4000x 12.5/100x 1/5 = 40 x 12.5 x 1/5
S1=40x125/10x1/5=4x125% 1/5

4x25= Rs». 100
7. Find the missing number: 6,? 21, 33, 48
(A) 12 (B) 14
C) 8 (D) 20
Solution '

Series patternis =6+ 9 + 12 +15
Se6+6=12 s missing term

.. He is different the people around him.
(A) from to
(C) of (D) with .
Which movement change Africa and Middie
.East regimes?
(A) Revolutionary league
(B) Arab league
(C) African peace league
(D) None of these

llowing could be a possible amount of
g:ntg.ei;ohours?that Jason takes to install 100

windows in a home:

A) 12 (B) 16
fc; 17 (D) 18
Solution ‘

lowest window install = 100/6 = 16.6 :

maximum window install =100/8 = 12.5

required answer should be greater than 12.5 but
less than 16.5 '

which is possibily 16 hours.

Or ' :

~ To conceptualize the problem, it helps to do a
proportion to figure out the numbers the answer
could be between: | ‘
8 windows/1 hour = 100 windows/x hours

Solving for this gets You 12.5 hours (so the fastest
that she can install 100 windows is 12.5-hours).
You do the same for the upper-bound of hours:

6 windows/1 hour = 109 windows/x hours

This gets you 16 2/3 hours (so the slowest that she

- 12.5 hours </=

16. When China join Worlg Trade Organization:

7 (A) 1985 " (B) 1997 T
(C) 1999 (D) 2001

17. Where is located the famo O
Copacabana Beach in Soyth mggg,ﬂ place
(A) Argentina - (B) Colombia
(C) Bragll. : . | fUQuay

18 Sykes-Picot. Agreement e ;
Agreement) was Sighed in‘(alsq ‘palled Minor
(A) 1915 ’

w3 4B) do1g




dero beach is located in which country:
9 \f;acuba (B) Nicaragua
¢) Panama (D) None of these

Golden Jubilee of the Indian National

0 Dngress (1885-1935) fell in 1935, which wee
heerved during the session held at .

%) Karachi (B) Delhi

(C) Lucknow (D) Not anywhere
 Itis time we out.
I (A) 90 (B) went
(C) gone (D) None of these
edied_________corona.
o z\) from (B) of
(C) to (D) None of these
2 Arab League was established in:
’(A) 1941 (B) 1945
(C) 1949 (D) 1965
4. When Pakistan left CENTO:
(A) 1971 (B) 1974
(C) 1979 (D) None of these
5. US adds and in list of Child

Soldiers Prevention Act in 2021,
(A) Armenia & Chile

(B) Pakistan & Turkiye

(C) Estonia & Djibouti(D) None of these:

26. The average heartbeat per minute in a normal
man is:
(A) 50-60 times (B) 70-80 times
(C) 80-90 times (D) None of these
21. Max Weber was famous:
(A) German sociologist
(B) German biologist
(C) German artist
(D) None of these

28. Kargil war ended through which agreement:
(A) Delhi Agreement
(B) Washington Agreement
(C) Simla Agreement (D) None of these
2. The antonym of Stagnant is:
(A) Static (B) Progress
(C) Stale (D) Filthy

3. Gangkhar Puensum, the highest- unclimbed
mountain in the world, is located in:

(A) India (B) China
(C) Nepal (D) Bhutan
. Package of enzymes bounded by a

membrane called a:

(A) Ribosomes (B) Golgi apparatus
(C) Endoplasmic reticulum

D) Cytoplasm
2. Siam Paragon is a shopping mall in;
(A) Phuket (B) Bangkok
(C) ChiangMai . (D) None of these

% The tang lying between the river Ravi and
fiver Chenab is called: '

Bari Doab

34.

35.

36.

37.

38.

39.

40,
.
42,
43,
44,
45,

46,

48.

49,

- (C) Indus
47,
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(B) Chaj Doab
(C) Rachna Doab
(D) Sindh Sagar Doab

The antonym of facilitate is:

(A) Ease (B) Impede
(C) Promote (D) Enable
Anna Molka Ahmad famous for:

inti iterature
(A) Painting (B) Litera
(C) Scientist (D) None of these

When did Quaid-e-Azam join All India Muslim
league:

(A) 1911 (B) 1912

(C) 1913 (D) 1914

Shandur Polo Festival to be held in which
month:

(A) April (B) May

(C) June (D) July

Balochistan Became Province in:

(A) 1947 (B) 1956

(C) 1970 (D) 1974

When did Martin Cooper invented the phone?
(A) 1971 (B) 1973

(C) 1975 (D) 1977

What is the synonym of Veracity?

(A) Authenticity (B) Fiction
(C) Mendacity (D) None of these
Who was the first viceroy of India:

(A) Lord Canning (B) Lord Rippon
(C) Lord Curzon (D) Lord Hastings

Synonym of Reverie is:

(A) Daydream (B) " Adoration

(C) Meeting (D) Awakening call
Which of the following is combustible?

(A) Hydrogen (B) Nitrogen

(C) Oxygen (D) Carbon dioxide
The share of Industries in GDP of Pakistan
after partition:

(A) 8% (B) 12%

(C) 14% (C) 18%

Most crucial step in natural growth in nutrient
cycle is: '

(A) Nutrient cycle (B) Water cycle

(C) Nitrogen cycle (D) None of these

The largest river in the world is:

(A) Amazon . (B) Nile :
(D) None of these

| know all the people sitting in the hall.

Find complete object in a given sentence:.
(A) 1know all the people in the hall.

(B) All the people sitting in the hall.

(C) I know the people in hall;

(D) None of these

COVID-19 cause by:
(A) Bacteria (B) Germs
(C) Virus (D) None of these

Change voice: Jack may solve this problem.
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(A) This problem might be solved by jack.
(B) This problem may be solved by jack..
(C) This problem has solved by jack.

(D) None of these :

50. None of the boys - present.
(A) was - (B) were .
(C) has .~ ' (D) have v
1. Change narration: Salma said to: me, “Can
you give me your pen?" : ‘
(A) Salma'asked me if | gave her my pen,
B) Salma asked me if | can give me y_otlr

" pen. | . ‘
*(C). Salma asked me if | could give her my

, pen. : -
* (D) Salma asked me can | give her'my pen

52. The Indus Waters Treaty water-distribution
. * treaty between India and Pakistan, brokered .
bythe: Y a .

(A) World Bank , ;

7 (B) International Monetary Fund .
(C) North Atlantic Treaty Organization .
(D) International Bank for Reconstruction and
. Development R

53, Choose the correct analogf/:
Sig: Gulp g
. (A) Soup: Water
(C): Touch: Push -

' (B) Tent: Hut-
(D) Cup: Glass

54. The Rafi Peer. Theatre'Worksﬁop (RPTW) -

named after
brothers.

(A) Rafi Peer ~(B) Usman Peer
(C) Faizan Peer (D). None of these

55. The meaning of [diom At stake is;
* (A) Verylow (B) In danger
(C) Atthe top (D) Appropriate .

56. One who travels from place to place is ¢
(A) Journeyman ~(B) Tramp e
(C) ltinerant (D) Mendicanit

founded by . two'

allgd: d

- 57. Which kind of system of government wa-s-'_

- introduced inr1962 Constitution? -
.~ (A) Bicameral (B) Presidential .
- (C) Parliamentary (D) None of these = -,

58. Najam Hussain Syed is famous for: © ' -
.- (A) .Doctor . (B), Critic
. (C) Psychology (D) None of these -
59.. Radcliff awarded which district to India for .
support in Kashmir: e
(A) Ferozpur (B) Gurdaspur
(C) Pathankot * - (D) None of these
60" Telephone.was invented by: ey
. (A) Cerf (B) ‘Babbage
.. - (C) Edison " (D) Graham :
61. _______ is an instrument for measuring . a
- small electric current. . -
(A) Anemometer
(C) Galvanometer
(D) Sphygmomanometer

(B) Hygrometé'r g
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“ALL_—Q——_LL—ﬁoId War strategy IS named as:

| 65., Clausewitz policy is:

\
inment -(B%‘ Deterrence * |
(8 gggﬁé’; of power (D) Gommon defence

63. Ahmad Shah\Pitras Bukhari was a famgy,

iter of language. . ' SR
(A) Engih R e
' '(C) Punjabi (P) Hi

- hundred-meter race false start time is:
ot er)hu& seconds  (B) 0.25 seconds:
. (C)'0.75seconds (D) 1 second \
\ A J..
' " (A) Decision to use force must be mutya|

political

.\ (B) Strategic - deterrence, ang '

\ prestige benefits . ’
" (C) The' policy of detente evolved . fron
conflict . s ‘
" (D) 'None of these

66. 'Which vof - the following -types of tapq
" constraints will prevent the entry of duplicat

rows; r , ,
(A) Primary key (B). Unique |
(D) Foreign key -,

(C) Null |
- B7. In excel from which tab you can write date of
birth like this YYYY/MM/DD:
(A) Input . (B) Format menu
(C) Insert* L (E_)).None pf these
68. Which of the following ‘is' - riot
~ characteristics of computer: :
(A) Automation (B) Speed v - -
(C) Intelligence (D) Versatility.: - .

the '

69. Audio, Video and PDF can sent through:

" (A) Gmail . . (B) Yahéo |
~(C) WhatsAgp (D) All of these
70. Who is the father of Internet: |

. (A) Charles Babbage (B) .Vint Cerf
(C) Martin'Cooper: (D) HowardAiken

|. 71 Change narration The'boy exclaimed. with joy

.. that they had won the match. .

(A) The boyssaid, "Hurrah! we have won the
_omatcht oo a0 : '
- (B) The boys said, "we have won.the match."

" ._(C) The ,boys ‘said, "Hurrah! We . won the -
7o omateh, o e T T :
... (D)’ None of these

72, Quaid-e-Azam asked three ‘law -lords from""
»" . British government in which commission:

- (A) Mandate commission - . - |
+ (B) Boundary Commission - - -

(). Empowerment commission

(D) None of these - v
Pervaiz Musharraf replaces et
‘chief. . ' i 83 ANNY
(A) . Abdul-Waheed Kakar - -
- (B) Jahangir Karamat
(C)- Asif Nawaz Janjua
(D) None of these

<

~

13,

74. Australian Open tennis oy 2 S
“ ' on which type of court: UInamgnt is pla‘yed

| '



. N !

5 Hard cout  (B) Clay court .
( (c) Grass court (D) None of these

ahadur Shah, the last Mughal Emperor, was

15 B2 dto:
e:;leM sore (B) Awadh
c) Rangoon (D) Baghdad
fran nsnational  Actors and  Transnational

16. Govemance activated in the area of:
A wwi1 - (B) Cold War
() Bluff War (D) None of these

7 which among the folloMng is the capital of

aos:
LA) Kabul .(B) Vl_entlane
(C) Vietnam (D) Nigeria

MICR stands for: .

A) Magnetic Ink Character Reader

B) Magnetic |[nk Character Recognition -
C) Magnetic Ink Character Receiver.
(D) None of these

9. In June 2020, United Nation Security Councn
elections held for:

(A) To address climate change i issues

(B) To select non-permanent member of UN
Security Council

78

(C) To discuss Kashmir matters by the |

request of China
(D) None of these -
§0. The study of insects is called:

(A) .Ornithology (B) Entomology
. (C) Zoology *(D) None of these

81- Aliaba group found in:

(A) 1991 (B) 1993
(C) 1997 (D) 1999
82. Heisgood ' . (mathematics. .

“(A) in " . (B) at -

_(C) on . (D) into
, vurwr;d'éu.,ﬂ 8
Srd (B) ;/f; (A)

defcu’-’u‘ (D) 2U ()

ow—JU/B/dVGU; 84

\ Js,dlu»fu/v (B) uJbuuf.,/v (A) -

Ko O, Fep (©
\ ' *‘Jufugﬁ}‘ AU 85"_
o oz, (B) L UreP (B
St D) e ©)

‘ Q‘LKJ/:'IJ(J: :,b’({_r‘jg.c_u»i, .86

. ;lj 21-(8) e, (A‘)Q'-"

> e

.

~
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ASSISTANT FOOD CONTROLLER (BS-15) FOOD DEPARTMENT
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A photograph measunng 5 cm by 7 cm is
enlarged in the ratio of 7:5. What Is the new
length and width of the picture?
(A) 7cmby9cm (B) 7.6 cmby 9.8cm
(C) 7cmby9.8cm (D) 7cmby8.8cm
Solution
Enlarged ratio = 7/5

- New length=5x7/5=7cm
New width =7 x7/5=49/5=9.8cm

-Two numbers are respectively 20% and 50%.

more than a third number. The ratio of the two
numbers is:

(A) 2:3 (B) 3:4
(C) 4.5 (D) 5:6
Solution
Let third number = x
First number = 2 X = St

100 35
Second number = io_n X '-7—2-

6
Ratio of two numbers = -s—x 4 ia 12x:15x=4:5

3,

The size of a singlet tile is 2x2 feet then how ‘
many tiles required to fill 17x12 floor:

(A) 47 (B) 51
(C) 59 (D) 63
Solution L

“Area of tile=2x2 =4

 Areaof floor =17 x 12 = 204

Required tiles = 204/4 = 51 tiles
If x: y=7:3 then the value of xy+x* / x*y*=

(A) 172 (B) 2/3
(C) 3/4 (D) 1/5
Solution ' ’

'Putx 7andy 3

xy+x’ [ xyl= 21+49 / 49-9 =70/40 = 7/4
The prime numbers between 64 and 81 is:

(A) 2 B) 3
AC»a . 203 5
Solution

Prime numbers between 64 and 81=67,71,73

79
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“10.

1.

12,

13.
14.

15.

16.

[he angles of a triangle are in ratio 2:7:11.

[\

solution
sum of angles in a triangle = 180

sum of mtlos; 20
mﬂnwk=gﬁrlUO:lg

7.
second angle = 5o X 180 = 63
1" oo
Third angle = 55 X 180 = 99

If one-third of one-fourth of a number is 15,
then three-tenth of that number is:

(A) 42 (B) 54

(C) 66 (D) 98

Solution

Let x be required number then

S ofrofx=15= =15
gofgofx=15=g=
x=180 then3/10x 180 = 3x18 =54

Makli graveyard is located near:
(A) Hyderabad (B) Jamshoro
(C) Thatta (D) Larkana

Select the antonym of the given word.
TRANSPARENT:

(A) Flimsy (B) Opaque

(C) Thin (D) Delicate

Select the synonym of the given word.
ENTICE

(A) Repulse (B) Weary

(C) Lure (D) Disgust

Choose correct analogy: Guile: Ingenious:
(A) Wise: Crammed \
(B) Courage: Timorous

(C) Desolate: Burden

(D) None of these

Select the antonym of the given " word.
PULCHRITUDE:

(A) Ugliness (B) Beauty
(C) Elegance (D) Allure

Kashgar is a city of which country:

A) China (B) Nepal

(C) Bhutan (D) SriLanka
My friend and benefactor died.
(A) was (B): were

(C) has (D) have

Change narration: He Said to me, "Will You

Accompany Me?" ~ ' '

(A) He said me if I will accompany him. .

(B) He asked me if | would accompany him.

(C) He asked me that | would accompany
him. - v

(D) He told me if | would accompany him.

Select the most éppropriate meaning of the
given idiom Knock down:

17.

18.

19,

20.

21,

22.

23.

24.

25.

26.

Papers of 2023
(A) To refused (B) To accept
To Proceed (D) To fell something

Constitutional accord® was signed on;

A) March 1972 (B) August 1972
(C) October 1972 (D) December 1972

gh'e “Emergence of Pakistan” book is written

597

y:
(A) Muhammad Ali Bogra
(B) Ch. Muhammad Alj

(C) Ayesha Jalal
(D) K. K. Aziz

When the little boy grabbed the lizard,

tail broke off in hand.

(A) It/him (B) Its/his

(C) It/one (D) the/nis

Bara Bagh Cemetery is located at:

(A) Punjab (B) Sindh

(C) KPK (D) Balouchistan

Choose correct correction: They say you did
it.
(A) You are advised to sit by them.
(B) You did it said by them.

(C) You are told to sit by them.

(D) None of these

Choose correct analogy: Condone; Offence:
(A) Overlook: Aberration r
(B) Conviction: Criminal

(C) Error: Omission

- (D) Mitigate: Penitence

Select the synonym of . the given word.
HAUGHTY \
(B) Proud

(A) Quiet
(C) Talkative (D) Humble ‘.

When was the Kashmir issue taken to the
United Nations Security Council by India?

(A) 1947 (B) 1948 '
(C) 1949 (D) 1950

The Captain said to his men, "Stand at ease.”

(A) The Captain urged his men to stand at .

' ease, ‘ : .
(B) The Captain commanded his men to
stand at ease. '

(C) The Captain wanted his men to’stand at -
ease. <

(D) The Captain told his men that they should

stand at ease.

Who is Author of the Book "The Making of

“Pakistan"; . -
- (A) ‘Waheed-uz-Zaman (B) Aitzaz Ahsan °

(C) K. K.'Aziz (D) Ayesha Jalal

\

3 After gaining power, Zulfikar Ali Bhutto invited the -~
leaders of the parliamehtary parties to meet him on 17 o ks
October 1972, which resulted in an agreement known .
as the 'Constitutional Accord’, after an intensive: ;

-discussion.
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27, There is beautiful scenery along the roads. In
* this sentence the preposition relates with:

(A) No_un_ (B) Adverb

(C) Adjective (D) None of these

28. Al India Muslim League won how many seats
‘ In the provincial elections of 1945-1946:
(A) 412 ¢ (B) 421
(C) 428 \ (D) 457

29. The third Iargest city of Pakistan according to
2017 census™:

(A) Sialkot_ (B) Lahore
(C) Rawalpindi (D) None of these

30. Which is the highést volcano in Asia?
(A) Mount Sinabung (B) Mount Damavand
(C) Mount Ararat (D) Mount Bromo
31. Bushra Rehman was:
, (A) Doctor (B) Novelist
~ (C) Scientist (D) Artist

32. The country with longest coastline in the world
is:
(A) US
_ (C) Canada
33. MS Excel is used )
(A). to create web pages
(B) to organize data

(C) to make presentation
- (D) toincrease the speed of computer

34. The Rawalpindi Conspiracy was an attempted
coup d'état against the government of:
(A) Khawaja Nazim-ud-din
(B) Liagat Ali Khan
(C} Ch. Muhammad Ali
(D) Noor-ul-Amin

35. What percent part of the total area of Pakistan
- " s covered with forests?

(A) 3.7% (B) 4.9%

(C) 6.2% (D) 7%

36. First Chairman of the Senate was:
(A) Syeda Abida Hussain
(B) Tasleem Jalil |
(C) Habib Ullah Khan
(D) Abdul Malik Balouch

37. Which of the following is the narrowest strait
. oftheworld: -

(A) Strait of Malacca

(B) Strait of Morocco

(C) Bosphorus strait

(D) Mozambique strait

38. As___is ready to help me I'have to do___ by
myself.

(A) no oneleverything(B) someone! all
(C) no one/all (D) None of these

39. Fill in the blank with suitable word.
Barking dogs seldom

(B) Russia
(D) China

(A) Barks (B) Bite
(C) Bit (D) Munch

o Faisalabad

41.

42.

43.
44,
45.
46.

47.

48,

49,

50.

51.

" 52,

53,
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40. Waterloo is located in:

(A) Poland (g) ﬁ;@'" .
(C) Belgium (D) Vo
Which article of the gonstitution de:flnes that
President is Head of th(eé)St:trehgc’e i
‘ icle 41 ‘ ‘
gé; gg:gle 370 (D) 'None of th\ese
Where is the Taj Maha: éc;ca}ig(rj:
know
gé; lblé?hi (D) Hyderabad
ich is the Oldest University of Pakistan?
YX?ICI?JI'S\jab University (B) Zakariya University
(C) University of Agriculture
(D) University of Jamshoro .

Which shortcut is used to select whole

document: ;
(A) Ctrl+A (B) Ctrl+B

(C) Ctrl+T + (C) Ctrl+D
Takht-e-Sulaiman is the highest peak of which
range: :

A) Karakorum (B) Salt range
gc)) Koh-e-Sulaiman (D) Koh-e-Sufaid

Which technology is used in compact disk to
store data? ‘

(A) Electrical (B) Mechanical

(C) Electromagnetic (D) LASER

WWW stands for:

(A) World Wide Web
(B) Wide World Web *
(C) World Whole Web

(D) World Wide Webpage

All India Muslim League session in September
1906 held at:” . -

(A) Dhaka -+ (B) Lucknow

(C) Kolkata (D) None of these

When was the Battle of Plassey fought?
(A) 1723 - " (B) 1749
(C) 1757 - (D) 1773

The Founder of Jamat-e Islamiis:
(A) Yasir Arafat =~ o
(B) Maulana Muhammad llyas™ .
(C) Abul Aala Maududi

(D) None of these

What is the-official residence of the French
President called?-

(A) Buckingham Palace Palace ‘ -
(B) 10-Downing Street , 2l
(C) Elysée Palace
(D): Nope of these

Another name of free software is:
(A) Free software y
(B) Customized software -

(C) ' Public Domain Software

(D) None of these
‘Cyber Technology involves:

.~ (A) dnftastructure destroying
(B) Sgylg . o v

(C) Néfwork.s"ec\l.lrity-

¥ l.‘?"
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D) All of these
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(C) 3 (D) 4
Solution

33472250,

= 3= 250.7

= 3= 243

= 3103 = 35

=x+3=5

=D x=2

. 81 is a math concept that measure the
total length-around the outside of a shape.

(A) Angle (B) Perimeter

(C) Factor (D) Probability

82. One liter is equivalent to approximately 33.8
ounces. Mark has plastic cups that can each
hold 12 ounces of liquid. At most, how many
of these plastic cups could a two liter.bottle of
soda fill?

(B) 6

(A) 5
(D) 8

(C) 7
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Answer Key
Cc 14. ¢ 27. A .40, C 53, D 66. A 79. B 92. B
C 15, B 28. ¢ 41. A 54. C 67. C 80. B 93. A
e ¥ b =5 &9 6. B 81 B g4 o
c 17. ¢ 30. B 43. A 56. A 69. A 82. A 95 B
C 18 B 31 B 4 A 57. C 70. B 8. C 96 ¢
Cc 19. B 32 ¢ 45 C 58. D 71. B 84. ¢ 97. A
B 20 D 33 B 46. D 5. C 72. B 85. C 98. ¢
C 21, B 34 B 47. A 60 C 73 A 86. B 99. B
B 2. A 35 B 48. B 61. B 4. C 87. C 100. C
Cc 23. B 36. C 49. C 62. B 75. B 88.
B 24. B 37. C 50. C 63. A 76. B 89. ¢
A 25. B 38. A 51, C 64. C /7. B 90. D
A 26. C 39. B 52. C 65. A 78. D 91. ¢
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Identify the ‘Adverb of Time’ (A) Sand (B) Salt
(A) Above (B) Today (C) Soap (D) Soil
(C) Down (D) There 9. Identify the figure of speech in the sentence.
Identify the ‘Type of Adverb' of the underlined Heis as fast as a lion

word ‘Why don't you listen to your teacher
attentively in the class?’

(A) Adverb of Reason

(B) Adverb of Place

(C) Adverb of Manner

(D) Adverb of Time

dentify the ‘Adverb’ of the word ‘Happy’

(A) Happier (B) Happily

(C) Happiest (D) Happiness

Identify the underlined verb. ‘This cat's fur
feels silky’.

(A) Model Verb

(B) Transitive Verb
(C) Helping Verb

(D) Linking Verb

Identify the ‘Neuter Gender' from the given
nouns.

(A) Nurse (B) Maid

(C) Computer (D) Doctor

Find the ‘Correct Spelling’
(A) Characteristics (B) Charecteristics
C) Charectaristics (D) Cheracteristics

| can't find my glasses. are they?
(A) What (B) Where

(C) Which (D) Who
Identify the ‘Countable Noun'’

10.

1

12,

13.

" 14,

(A) Simile (B) Metaphor
(C) Personification (D) Alliteration

:dentify the typ?1 of ‘Underlined Clause’. “The
and gets wet when it rains’

(A) Main clause (B) Subordinate clause
(C) Adverbial clause (D) Adjective clause
‘They could not attend the meeting’ because
they the office in time.’ :
(A) Would not reach (B) Are not reaching
(C) Had not reached (D) Had not reaches

Fill in the blank with the adjective of ‘Courage’.
‘Pakistan is known for its army.

(A) Encourage (B) Courageous
(C) Courageously (D) Encourages

Select the correct punctuation mark to fill in
the blank. ‘The ex manager helped
us understand this document.
(A) 'Hyphen (-) (B) Comma (,)

(C) Colon () (D) Semicolon (;)

Identify the type of the following sentence. it
was a productive day to do drawing activity.
(A) Simple sentence *

(B) Compound sentence

(C) Complex sentence

(D) Compound-complex sentence
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15

16

17

" (C) Asian Development Bank

18.

19,
20.

21
~ _ (A) 1st Female Chief Justice of Pakistan

22,
23.

24,
© . (A) Writes eomputer programs for specmc

N

25.

" 26.

(C) Governors

What is meant by ' mnlnllmm
(A) Relatives (B3) Grandmother
(C) Grandfather (D) Ancestors

Doha Agreement was signed between US and
Taliban in:

(A; Feblumz 2020 (B% March 2020

(C) April 2020 (D) May 2020

Which of the following is an agency of th.

.United Nations that leads International efforts
. to defeat hunger and improve nutrition and

food security?

(A) Food and Agriculture Orgnnimtlon of the
* United Nations

(B) World Bank

>
(D) Universal Food Organization »

The member countries of the World Bank are
represented by a Board of who are
the ultimate policymakers at the World Bank.
(A) Justices (B) Senators

(D) Peacemakers

American Forces entered in Afghanistarr in:

(A) 2000 (B) 2001

(C) 2002 (D) 2003 ,
“Yemen Crisis started in:

(A) 2009 (B) 2011
(C).2013 (D) 2015

Ayesha A Malik has been appointed as:

(B) * 1st female Judge of Supreme Court
(C). 1st female judge of High Court
(D) None of these

Iraq Invaded Kuwant in; :
(A) August 1959  (B) August 1959
(C) August 1990, (D) August 1992

Which of the following i is notpaper size.
(A) Legal (B) Executive
(C) Landscape (D) A3

:Computer operators:

* problems
(B) Operate the devrce which mput and
output data from'the computer

(C) colletge degree in computer science -
All of these

All bought a Motor Cycle for Rs. 60000 And
sold It for Rs. 66000. His percentage profit is:

(A) 10% (B) 12%
(C) 14% © 16%
Solution : ‘ )

profit = 66000.- 60000 = 6000

- percentage profit = 100 X 6000/6Q000

= 600000/60000= 10%

If one american dollar |s Rs 280 rs then
56000 is equal to:
(A) 400%

(B) 3008
(C) 2003

(D) 100%

~

- 27. Hamza has R

~

Solutlon

as Ydollar = R 280 then
56000/280 = 200 dollar

8. 2000 he -bought’ stationefy
of 2000; How much rupee h

(B) Rs. 280
(D) Rs. 1950 |,

‘whichelg 149,
left;
A) Rs, 86
* (C) Rs. 1720
Solutlon

First calculate how much Is 14% of 2000
2000 x 14/100 = 280

" amount he has left = 2000 - 280 = 1720

28, b’dt/3.=_c/J~ur,.w94f .,)’1675000

“(A) Rs. 18250 **  "(B) Rs, 20250 °
(C) Rs. 22350 (D) Rs. 23250

29. u’/wd/uirﬁ&//l.w..flc_u‘uuwu

rJJIUuV/)L UUIM’-K‘;O}’Z& Ua/' L.-:,-»:"‘fl

| ?u]%f_l,ffuftfﬁ
CA) UF A (B) it
(C) =12 D) St

30, Surdly; ?L[’l_pu_"gu:-.:ul;;rﬁ;t.w,/ 15,2, <>

(A) bl (B) whisF
(©) ehgnt @O ESE

31. The product of two consecutive rntegers is 90.
_Find the integers:*

(A) -9,10 . (B) -9, -10
(C) 11.-.12 (D) -12,11
. Solution

very clear from given option that

-9x-10 = 90 ( negative times negativ = posmve)
option B is correct

. r « \
32, ?a_,/r_}"wu‘u&.,r,uufd;
3x2+4x-9=0 ~ T
(A) 413~ (@B -
() 3 -~ (D) -3/4
Solution ' -

This is quadratrc equation in WhICh

A a=3, b=4, c--9

product of roots =¢/a= -9/3,—- -3
33 GUJé‘Lf* ;r"KurLJQ/CU/l;JL Jw-f'
"c_t‘ré ;

R ' (_B) |*{‘
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Solution ’ ~
sum of two sides of any triangle is always
greater than the third side of the tnangle

3. cd_dn}/4w/££(,bv.fl‘

A3 - . (B)2
Ecg (D) 4
Soluthn

+ points to remember:
Aray has only one sided arrow.
A line has always two sided arrows,
_A liné segment has always two end points.

3. °r—dc duir‘uu/ c-u‘uruu%,J_,»
RS T e
(E:) ar s D) 327405

Solution

A triangle is formed when sum of two sides is

greater than third side; and another theorem is

that difference of two sides of triangle is less thn
. third side.

- 4 2 which is less then 35

o) optlon Dis, correct

36. um wulf/wz/so Jmfmzo \

40. conl e n _ -

"aw"c,lfu"l/d/
(A) 5:12 o (B) 12:5°
(C) 712 ( ) 12:17
Solution :
girls = 120. and boys =50
total students = 120+50=170
girls: class
120:170 =12:17 )

37 SR
(A) English (B) Latin
(C) Greek (D) Arabic

38 YJ/(}}UJJW'J»LU’!J&
(A) 4,t'l¢,/:ul/(.t/l /)I)/ [
(B) et zbiglal ,_»l)“;
(&) ‘arf(;{;w)',w /:rl’ |
©) e gttt 2 M

J

39ochl/c-A':"LD}(’J”'J’L}‘sdld‘olgdv:jj ,

A WSS (B

Ve
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(D) _JT(’:

(C) .’;r‘(’l

(Idlomanc Phraqes
'\I [_j ,JUJ}(/‘P' r)

« & Phrasal Verbs}
NLW deon wnh Nrw Entms

e NS

PE—

a ~|,v..---—,-.r-.v

K' O

(s

[ ‘_ ) |

475

[ 3

i

% «

@

¥ ; ;

_ M. Imtiaz Shahid

i

N T ST S R

w“ ’ bl nl-", YL - "-:".:‘
( Lc-;&.;»v‘b‘ ] : et
®

{

W ek
C) 1aL s

B) KJIE.CI'Z_,
©) 1Az
&LMUQ:-JJ}JM};JJJV&&?Z‘:Z‘E&'
SISl b’uf)c_e:JLnkuL{'—i.:é!
S0/ e o
W B @) B

© Y o) &

41.

-—

42. Which Balochi poet was friend of Faiz Ahmad iy

Faiz? .

(A) Mir Fazal Khan Nasir - - h
(B) Mir Gul Khan Nasir '

(C). Mir Niaz Khan Jamal

- (D) None of these

w

43. Jabir Bin Hayan died in: | '
. A) 810 AD (B) 815AD °
C) 820AD (D) 825 AD
44, yJoseifain :
(B) U =

(A uf‘x\ :
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45,

46.

47.

© &'dr ©) K ety

Lr_)e_ conquest of Makkah is occurred in which
ijri:

(A) 2 Hijri (B) 4 Hijri

(C) 6 Hijri (D) 8 Hijri

"'f-c—’id’kwfcmé_uaj.;.ﬁ;wu
(A) AP a2 Kt 2

(B) Ji;"d/l}‘gﬁﬁl;‘dﬁﬁﬁl

(©) Jiﬂ};’.‘ﬁili‘ﬁxl&j

(D) Rl R it 24 d1ns

;‘/Jm};:«/r‘!fd.:&Jl-‘LJﬂ_‘wr‘-’f..g:«.w‘
lee .
(A)‘/f"(l (B) 51

(C) D;(" (D) None of these  *

48

o £

49,

50.

51.

52.

A F

Wbl UL Je— W Ly i S oy 2 S

fe

A Linet e By LSF
(D) LLnlfUrs
S d 7S B,

(A) AF s et

(B) =i bol 240

€) G R ©) ety
WonisJof i Uttt o

(B et/ M

B) ctrioe/

©) ¥yl (©) it

(A) B
(C) <Al (D) 14

JWIU)‘)‘{ é‘jl(o,v’ TJJ{*'.'}(&(V" .Lul)hh%/

i“amul“,,u:/j"m-{a.gﬁuﬁ;
(B) =15 19

63.

64,

55,

56.

57.

58.

59.

60.

61.
(A) essh

©) Lo (D) None of these

?+L}J;J|J¢'d'!{._.ﬁo¢',oi}.ié;-w—’d:u%
(A) 2 B) &
© Ji Nz

(A) (Ll s (B) ¢Jrinigs)
(C) ¢ 2l (D) None of these

Name the non-muslim nelghbor countries of
Pakistan:

(A) Iran, Afghanistan (B) India, China

(C) Australia, Germany

(D) Italy, Poland

Name the Muslim countries of South East
Asia; ‘

(A) Malaysia, Iran

(B) Bangladesh, Iran

C) Bangladesh, Afghanistan

D; Indonesia, Malaysia

A,ﬁu{uum..fzuun'{fl.fg;é_u:ziy'ui/
A bsfUinse  (B) L Son

(C) berfUb~ (D) Ve
ufliLnZ_/d;,&J:}J:A:,/"’48r£é
W e e L
(A) 4Ll s
(C) ¢ Lirif

(B) 4((2'»&»,/:0: ;
(D) S ety
mJuu:oumq;ﬂJuu@

(A) f[ﬂ)‘Jr‘J:lg‘r.«f

®) pFdiguy”

© ity 0 K ety

?‘aﬁggk;}nﬁb’u—f

(A) ULl d_iof 4o

B) Sl A s

© Vil itaf D) o §f et
Vet Soost

(B) Uipind



62-

63

64.

65.

66.

67.

68.

o) b (0) U hE
( < | '

i lhES e Ll
W azard All Hajverl RA

A Hazrat Lal Shahbaz Qalandar RA
@ Hazrat Baba Fareed RA

%o) Rehman Baba

Oyt e

w LA B el

(©) LA (D) LediA

J—'«ﬂo;JGJ.:am._‘,;g,,/

) WWoheF10 Kl :
® ¢\ (edrfus i

() l[yfuf:w&u:’u/ (D) None of these

LC'J?A(;'KU;MJ/&'JJUU/I;

n el (B) WEF

€) ebief (0 et
Name the area which separates Pakistan from
Tajikistan: . -

(A) Ceasefire line (B) Radcliff line

(C) Line of control (D) Wakhan corridor

The Punjab Protection of Women against
Violence Act passed In:

(A) 2014 (B) 2015

(C) 2016 (D) 2017

SPedpe L 461945 0
Jinete g7
(A) Gals™ s KR FE

(B) S s g SGTE N

69.

10,

€) ket LS |

(D) ety v’m,Juinﬁ.?(‘”

o b (Lo

(A) = fyss (B) =il o 1A
©) =B Usifil (D) =l e W sz

F?Wgt‘f(jﬁ'uﬁg)nw‘g JU”"‘-{'UD{L

) .fBU,’ (B) &)
il © o

",

12,

73,

74.

75.

76.

7.

78.

79.

80.

81.

" (C) Steel&Nickel

Papors of 2023 695
'."z;[f.:rllh.i,%;,uﬁdlf /s
(A) Hispar (15) Batura
(C) Blafo (D) Balturo
ot L (if}'u'f, TUsf Josmsew i L Y
S NN L yar

m Yo7
) YirSots

®) YWir),
(D) gg)/)m’

UKL T2 vy .‘.'J;.f.f..j
1 i

(A) 14869 (B) 24479
(C) 34889 (D) 44899
?d‘-'%Mul}{/KJ’? VIV

(A) Bahawalnagar,Bahawalpur,
Rahimyarkhan, Khairpur

(B) Ghotki, Mianwali,Khusab,Layyah

(C) Mianwali, Khusab,Layyah Bhakkar

(D) Ghotki, Sanghar, Tharparkar, Bhakkar

The famous poetess of Kashmiri language is:
(A) Sarwat Kousar (B) Hina Jillani
(C) Parveen Shakir (D) Habbaz Krztccn

te v S ST
@) de.
(C) S#psy

8) =¥
0) &/

a“_//;u; Aﬁlu?luldk‘blu;(;‘cfwﬁrfgf(
Suiu ' -

(A) Sl (B) Jois .
(©) S (D) el

Centrosome formed the:
(A) Spindles (B) Chromosome
(C) Cell membrane (D) Cytoplasm

The imaginary line around an object in which it
rotates is called. .

(A) Spin motion

(B) Centerof gravity .
(C) Axis of rotation (D) Centie of mass

Enzymes are madeupof.
(A) Vitamins (B) Proteins

(C) Lipids (D) Carbohydrates
Fg ol LB L ISueT
WAL e |

(B) SteelaCopper

(A) Copper&lron (B Sopperahicke




. 83_. ?‘glﬁ.‘;

- 87, LML.){_’LH "L/J:J:’LQ/"u@Ll,A?J”

v

(8. ]

e

" 91. Liquid hydrocarbons can be- converted to

-
.
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82 e eibyisi S
(A) Newton First law of motion :
(B) Newton Second law of motion
(C) Newton Third law of motion .-
(D) Law of momentum

el 5:{(?&/:!7&1;1
(A) U1 (B) t,
(©) ches D)Lk

84. Thebasic_‘bhotosynthéﬁc pigment is: -
(A) Pholosystems (B) Carotenoid
"(C) Chlorophyll-a (D) Chlorophyll-b ,
85. Atmospheric pressure is measured with a-

) Screw gaugé  (B) Barometer
(C) Stethoscope _ (D) Hygrometer

86. Which carry oxygen throughout the body?
. {A) Neutrophils (B) -Platelets :
(C) White Blood cells (D) Red Blood Cells

't ' '

(A) Hydrophytes ~  (B) Helophytes
'(C) Xerophytes (D) Aerophytes -

88. Water is called Universal solvent because of
.(A) Polar nature (B) Hydrogen bonding
.(C) lonic bond (D) BothA&B

89. The oxides that behave as both acidic and
basic ‘oxides is called: '
" (A) Acid (B) ‘Salt
(C) Amphoteric (D) None of these

90. Solvay process is used for the manufacture of:
- (A) Sodium carbonate . ‘
(B) Magresium chloride
(C) - Aluminum Oxide (D). Sulphuric acid
a 3
mixture of gaseous hydrocarbons by:- '
(A) Oxidation (B) Cracking .
(C) Distillation (D) Hydrolysis

92. Margarine is made from the process of

-,

- Le. . aira)
;LZ'-(D)'. ~ 40

SU.’Z,": C_-,c‘;_Jn.__aél:E;rJ/?gfwlﬁ[)l(JdL :94' 2

~

o A D)

e L

S Fo e
SIS IBLISSP AT 85
g5 (8) Cusfw

qE o), oo

| SeoPe S ((-_?}u:ﬁ/ul’/"‘ %
ZQI;;,/'«; ® . blee [y
uder @ e @
st Sf S SNl fiE g7
whosf (BY JanF A
J#uf(C)
il b L._,L,;” 98
St P B Ve n)
O T (©)

o2 IO o T I Ui s g

~

Lo 760 (B) 2 ot (A)
MK (D) ekl (C)

UYL Lt 100 |

(A) Chiorization (B) Carbonization 44 (B) gj (A)
o (©) Hydrogenation (D) De-carboniation_ e . L}J”
2 iy, gt s =61 (D) 4
R Py S A D - 1 40
: % : " Answer Key g _
1. 2B "~ 11.-.C 2. B~ 31. B 41 B 51...C . 61. ' 71. B
W2 G 12 B 9 B . 42. B~ 52 A 62. D 75 p
3 B 13 A. 2 € 33 B- 43 B 5.°D 63 p i
4 D 4. A 24. B 34 C #4 C ‘54 C 64 o 74. C
5 C 15. D 25 . A 35 .D 45. D 5. B 65. - ¢ 75 D
6. A 6. A 26 C 36 .C - 46 D g \g 66. -D- - 76 ¢
7 B 1 AT .0.° 37 ¢ . 4150 SIS I R A
8 Cc 18 C 28. B 38 A 48 D Fredh it 78. A
9. A 19. B . 29. B 39 A 49. D S0 6 WDy e
0. A 20 D 3 B 40 B 50 C : RB.D g B
B T e 4 \ N, e
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83.
94.
95.

B 96. A 99. »p
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Berber tribes were resident of: .
H)e South Africa (B) North Africa
(C) Central Asia (D) China

Maijlis is the name of the parliament of:

2 (A)J Iran (B) Iraq
(C) Qatar (D) Syria

3. The Himalayas, Alps, Andes and Rockies are

", examples of which kind of mountains:

! (A) Fold mountains

(B) Volcanic mountains
(C) Block mountains
(D) Glacier mountains

4. Which country joined the UNO in 2006:
(A) Montenegro (B) Macedpnla
(C) Hong Kong (D) East Timor

5. One cell thick vessels are called:
(A) Veins -
(B) Pulmonary artery
(C) Capillaries
(D) Arteries

6. Who becomes Youngest female Aerospace
Engineer of Pakistan: - .
(A) Shaista Malik (B) Aasiya Igbal
(C) Arooba Faridi ~(D) None of these

7. Which compound is\the most soluble in
water? )
(A) Salt (B) Sugar
(C) Camphor (D) Sulphur

8. Who has become youngest Microsoft Certified
Professional?
(A) Arooba Ansari (B) Arish Fatima
(C) Javeria Jalil (D) Kiran Naz .
Most metals at room temperature is in the
form of:
(A) Solid (B) Liquid
(C) Gas (D) None of these

10. Which mountain range is located in the south
of Pakistan?
(A) Himalayas (B) Karakorum
(C) Kirthar (D) None of these

1. Demography is the study of population
Including:
(A) Birth (B) Death
(C) BothA&B (D) None of these

12, :

Wa)\telerloo is located in:

taly (B) England

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23,
- (A) 10

24,

25.
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(C) Spain (D) Belgium
Headquarjer of  Palestine Liberation
Organization is situated at:

(A) Ramallah (B) Acre

C) Haifa (D) Jerusalem

Alpine glacier is also known as:

(A) Piedmont glacier (B; Valley glacier
(C) Trango glacier (D) None of these

The headquarters of UNICEF is located at:

(A) Geneva (B) San Francisco

(C) New York (D) None of these
is the state of the atmosphere at

particular place and time. ‘

(A) Climate (B) Weather

(C) Season

(D) Atmosphere
Which among the foll
capped mountains?

Mars (B) Pluto
(C) Saturn (D) Jupiter
Siachen conflict started between Pakistan and
India in: - -
(A) 1982 (B) 1983
(C) 1984 (D) 1985

The total capacity of lungs is about;
(A) 2liters (B) 4'liters
(C) 6 liters (D) 8 liters

India has announced new Kashmir Domici
Law on:

(A) 1st January 2020
(B) 1st February 2020
(C) 1st March 2020
(D) 1st April 2020

How many Jews were killed in World War II:
(A) 4.5 million ~ (B) 5.7 million

(C) 8.6 million (D). 9 million

The Mughal era period is:

A) 1526-1757 (B) 1526-1857
%C)) 1526-1861 (D) None of these

le

seats are reserved for non-

| ims in the National Assemb]y.
Muslims in the (B) 20
(C) 30 (D) 40

Star in Pakistan flag represents: - ’

(A) Knowledge (B) Wusc}z:rr::3 i

(C) Courage (D) Al o.

Wazir Khan masjid is located at: s
F

o,
-

owing planets has snow-



26.

27,
- 28,

29.

KK

32.
. (A) Aghari -

-

35,

Lahore B) Peshawar

{0

Karachi D) Faisalabad
Which famous = Kashmiri leader died in
September 20217
(A) Burhan Wani
B) Yaseen Malik
C; Syed Ali Shah Gillani
(D) None of these
Kalabagh dam is located in which province:
(A) Punjab (B) Sindh
(C) KP (D) Baluchistan
The national language of Pakistan is:

A) Urdu (B) English
C) Punjabi (D) None of these

Who is the founder of Mughal Empire?

(A; Babar (B) Akbar

(C) Jahangir (D) Aurangzeb

.- How many times. Mahmud of Ghazni attacked
on India: 2
(A 13t§mes (B) 15times .
(C) 17 times (D) None of these
Which is the national bird of Pakistan?

" (A) Parrot (B) Piegon
(C) Markhor (D) Chakur

The ‘deposits of copper, gold and silver have
been discovered at:

(B) Dadhak

(C) Dakhni (D) Saindak

‘Who signed-the Atlantic Charter in j\ugust
194172 - - - -

- (A) Frankiin Roosevelt and Winston Churchill |

(B) Winsten Churchill and Harry Truman
(C) Clement Attlee and Franklin D. Roosevelt
(D) Neviile Chamberlain and Harry Truman

. ‘The accufaéy of the floating point numbers

representable in two 16 bit words of a
-, computer is approximately: :

(A) 16 digits (B) 6 digits .

(C) 4 digits (D) 2 digits

The city constructed on the bank of the river

Tigris is '

(A) Basra (B) Najaf

(C) Tehran . (D) Baghdad

.-Who was the first Malaysian Prime Minister

who worked for their freedom from British?
(A) Tunku Abdul Rahman

. (B) Mahatir Muhammad

(C) ‘Abdul Razzak Hussain

" (D) Najib Razzak

- 37,

" a8,

- How many bits are in one byle?

4 bits (B) 6 bits _
E Eé)) Bbgls (D) None of these
What is the age of Retirement of Supreme
: Court Judges?
(A) 60 (B) 62
(C) 65 (D) 66

39.

by:
EBDO and PODO were promulgated
(A) Liagat Ali Khan (B) Ayub Khan

- il

QQQ‘ Advanced PPSC MCQs Model Papers (Volume 2). -

(C) Yahya Khan (D) None of these

ia Company established in:
40. Eia)slilggg par (B) 1550 _
(C) 1600 - (D) 1650
_ Who was the first viceroy of India?
" (A) Lord Canning  (B) ‘Lord Rippon
(C) Lord Curzon (D) Lord Hastings
42. Raja Dogra purchased(lé?s%n“ig in which year-
840
(c) To4a (D) 1846
beris a ; '
o (K/{')y Ffass | (B) Mountain’
(C) Road (D) None of these
44. Mahmud of Ghazni attacked India in which
century; »
(A) 1?"‘ Century iB) 117 Century
(C) 12" Century C) 13" Century |
45. Which ancient.city is'considered as “Pearl of
Gandhara Civilization™ '
(A) Hasan Abdal . gg; ;g)r(n"?a
(C) Wah 4
46. Computer operator function is:
(A) Provides data for operating -
(B) Determines a sequence
(C) Perform defined tasks
. (D) All of these . ,
'47. ‘Which among following is not associated with
spelling dialogue box? & '
. (A) Edit F (B) Ignore
(C) Ignore All (D)'Change
48. Which planét of the solar system cast out from -
. list.of planets? )
* ' (A) Mercury'. (B) Venus
(C) -Neptune' (D) Pluto -
49. ‘Which 'shorteut » is uséd for save the
‘document? .- ™ . .
(A) Ctri+A 7 (B) Ctri+S
- (C) Ctri+B (D) Ctrl+1
50. Which shortcut is used for copy the text?
(A) Ctri+C (B) Ctri+v  —
(C) Ctri+X (D) cti+vg
51. | am sure | have met your brother before.
: HerevbeLore is: ‘ _
“(A) Ver B) Adisctive-
(C) Adverb (8 Ng’::t."’e
52. Wha'tv:s ahlight pen? '
(A) Mechanical Input Device °
(B) Optical Input Device e
+ (C) Electronic Input Device ~
(D) Optical Qutput Device .
53. What is the mean; b S oy
A Wetcai " *the o -5 umcoat:
C) Man of principle (D) Traitor
54: The antonym of Climax s
ex Vewhe
(C) Bottom (8) Highlight
o8 @ antonym of Meagre s
S



56.

57.

58.

59.

60.

61.

62.

63.

85.

66.

A (8) Poor

(é)) Eg\.;lgtst (D) Large

. d the missing term 16,2454

FK; 30 (B) 36

(C) 48 ©) s
:worked from 9am till 8pm. “Till" is which part
ff\fpiﬁjce'l\we (B) Preposition,

(C) Conjunction (D) Noun
change Voice: Whom did the rich help.

(A) Whom the rich has helped.

hom the rich was helped.
(?;)) ylv\!hom the rich have helped.
(D) None of these

Voice: He is writing a book.
%a%gook has been written by him.
(B) Abook is being written by him.
(C) Abook was being written by him.
(D) None of these

Change narration: He said, *| have a new car’.
(A) He said that he had a new car.

(B) He said that he has a new car.

(C) He said that | have a new car.

(D) None of these

Which of the following are not the sides of a

right angled triangles?

(A) 9cm, 5cm, 7cm  (B) Scm, 15cm, 12cm

(C) 2cm, 1cm, V5cm (D) None of these

Solution 0

Verify the given sides using Pythagoras theorem

(9= (5 +(7)

81=25+49

81=74 ,which are not equal

Solve (V2 - 1/ Y2)*= s

- (B) 172

(D) 1/6

Solution

Virvi-1.2 _ _}_  J

( V2 ) "(\Iz) = /‘

Solve *\64+3=

(A) 2

(C) 4

Solution

Waxax4 +3=4+3=7

—
nw-

S

. 3.275is equal to:

(A) 39/35

(C) 210135

Solution

3275:&5'—&—'1&1-31_1 -
) 1000 200 40 " 40 -

Choose the correct meaning of the idiom:.'To
add fuel to the fire": :

(A) Make the fire burn brightly
(B) Prevent fire from dying out
(C) Make things worse

D) None of these

(B) 311/40
(D) None of these

Which of the following is not a.page view?’

67.
' (A) Habib Jalib

68.

69.

70.

7.

72.

73.

74,

75.

76.

(D) None of these -

- rapers or cU«sJg bVd
(A) Landscape (8) ‘A4

(C) A3 (D). None of these
Which Pakistani Poet Got "Lenin Prize"?

(B) Faiz Ahmad Faiz
(C) Ahmad Faraz (D) None of these

The antonym of ambiguous is: '

(A) Clanty (B) Opaque
(C) Uncertain (D) Vague
He '

_____his work before my father arrived.
(A) has finished (B) have finished
(C) had finished (D) was finished

The another word for pros and céns is:
(A) For and Against
(B) Bitter conflict

~(C) Diverging views

(D) None of these

Slow and steady the race. ‘ _
(A) win iB) wins . .
(C) won D) None-of these

Change narration: He said that | mig'ht
achieve my goals.

(A) He said “May you achieve your goals”.
(B) He said "May you achieve your goals”.

. (C) He said “Might you achieve your goals”.

(D) None of these , ..
: was the first to develop the

binomial theorem.

(A) Muhammad ibn Musa al-Khwarizmi

(B) Omar Khayyam* ~

(C) Al-Beruni '

(D) None of these o

Change narration: He said, “By God | am not

guilty”. L L e '

(A) He said that by God he was not guilty.

(B) He said by God he was not guilty. * -

(C) He said that by God he had not guilty.

Who is the current Chief of Air Staff?
(A) Sohail Aman ' .

(B) Zaheer Aimad Babar °

(C) Mujahid Anwar Khan
(D).‘None of these :

The sumi of ages of father and son is 50 °
years. If ten years ago the father age was 9
times the age of his son, then the present age

| . of father is:

(A) 35years *(B) 37 years
(C) 39 years _* (D) None of these
Solution '

Sum of their ages = 50 years
10 years ago father age was gtimes son age that s

10 years ago  father- son
, 9% .. X
Presentage 9x+10 X +10

Sum of ages =9x + 10+ x + 10=50
'\ 5 10x =50-20
10x=30 , x=3




7.

78.

79.

80.
81.

82.

83.

85.

SC MC

Present age of father = 9(3’) +10=227+10=37
Ageofson= 3+ 10 =13 years
What Is the LCM of 6™ and 7" term in

an=3n+2
iA; 360 (B) 460
C) 520 (D) 620
Solution

For 6" term, putn=6,wehave 3(6)+2=20
For 7" term, putn=7, we have  3(7)+2=23
LCM = 20x23 = 460 (because 20 and 23 have
no common divisor)

What Js the value of compound interest after n

years".
(A) A=P(1-r/n)*n+1 (B) A=P(1+r/n)*n
(C) A=P(1-r/n)*n (D) None of these
Solution '

This Is formula given

Robert Bunsen invented.:
(A) Bunsen Burner

(B) Bunsen Micrometer
(C) Bunsen Compass
(D) None of these

What is the alternative computer jargon for

bug?
(A) Leech (B) Squid
(C) Slug (D) Glitch

How many states are there in United States of

America?
(B) 45

(A) 40
(C) 50 (D) 55

A place where leather is tanned is called a:

(A) Tannery (B) Casino
(C) Brewery (D) Workshop
Hazrat Ibrahim AS was born in:

(A) lran (B) Iraq

(C) Syria (D) Jordon

In which Prophet era Firawn was king:
(A) Hazrat Isa AS

(B) Hazrat Musa AS

(C) Hazrat Sulaiman AS

(D) None of these

In 1956 DNA polymerase was discovered

from the cell of:
(A) E.coli (B) Streptococcus

(C) Pseudomonadota (D) None of these
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3 A 16 B ' 29 A 4 D 5 D 6 A 8. C 94 o
4 A 1B 30 C 4 A 5 B 69 C 8 A o5 4
5. C 18.C 3. D -4 B 5 B 70 A 8. B 95 a
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12 D 25 A 38 C -5..C 64 B 77 B 90 C
43 A 2. C 3 B 52 B 6 C 78 B 9..B
3 ’ by N

00000000

e eadMaStEr e \(

ead Misteress = .

Y e
o ke L .
[ ‘
> N
v T 4 \
R I R
; ML) Q N
ORI L K e

i

il - ©®
Advanced ' _Publishers





